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BENGALI LETTER WRITING, DRAFTING OF REPORTS, PRECIS WRITING,
COMPOSITION AND TRANSLATION

Time Allowed—3 Hours Full Marks—200

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and
the remaining ones ignored.

1. fTaflRe @ @IE 9#7F [Ea FrE Teae Sfewe @l e mlhie Afasa oM Tz
SEE S o *THA N AQFIE g Fepeis 40
(- #ifdaes X,Y,Z f1g9)

(F) TG (AR @I Sfefie 29 ¢ O T
() ISATH AR A9 Sasifo
(51) 2Rl ToRFR el € SRSl 11 I G ANES Sreld ariee!

2. fasfeiie Raa 7iF 200 *@a T @I TR 2iforawa fbgas 40
TbraR W a9 SeR AeFfod A’
3. RS Sre AR e 40

‘ 2i2s o e A2 Siei o FRIGTE TR SRefde fos, ©4a D SIiee aznes i S
Siofe A (1 Sofeile FAC0E SN | SR @il ©IF e IR 20 AL (9feT | $IR (R
Ifere s 2@ oAk (MR 3ol | (ol Ffa od ZwRESld T AR ST IR
foers Srog FIed ALNE WS T (@0afest | Oie ©f (o F( (12 SR 2 3402 1 1@
SR, A FEENEA | 2 T @9 AR eeiE omd e oiw [efte e afre wre ©f
ssjef (<505 AT, ©F ©IF Ty SR (2 G060 | FeRIfA (7, O SN Wl bl 73 A O
I |

W A7 a2 (Rl 9 Gt i Resw Tge et Gt Wi |

4. RN 21 03 o fofers fAafafiie emafem Tea s 10x4=40

\

|

TSRS ORE AT BT, ST 2G -8 0 B (577 | (1 A4S oI AN AN (R, Ffefwet sfe
TSI Bl GHfe (NG S ARG 29 | 3w e ol o i @ s
SN O SR (72, oW (U502 | {9 17 A @35 e Tore! | v WG s S @3
AT GF 26 (@ S FOMEE (1 I Swix AT ¢ J7roie S @i | Soitas e o (R st
TG e, (NI TS (FIANS (72, 5 SN SIS T @i 57! @ A6 2® 7033 feafey (rit
R I, AT 5 AR SO i HIfFAI v 0 (PR |

AR MREOIF qC SR To! HARE | @Few (@ Ol O (AF @RE i ufe w3
CISTEICS SIS W G, A QLT IR0 ATT R 93 (20T ARF A 267 e [ofegaas, 712
@ o= Aire T oS | SPRT T G @6 Eiel 2@ HfSr SIS #Ai=E |, A0S AW
S M oife 308 SIre PRI, ATTT OFF (@91 (@ OIF AN KSIE! T 1 | T4 (T SIS 9e,
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O IR 04, 03 oI T oA TR S (IR | SN IR WK G5 516 0 G SRS
(04 T | GrATS (et G OInd BofR 2@ 72 o4 7% it fare, wqe waie red 7w (e
awﬁmvfﬁamorcawIWWWWWWWQWWWWWWW
Refest w1 1 o w2 et st Reg sit2 A0S @ GIfeE, o ZIIE (AT (o1 | e
ST (EIA Tt AN @t 51 wge Fwae | 3710t 0 57 A1 S5 RIS A= 71|
W@zécm?!NWWWﬁmwmmmﬁN@ﬁHmﬁ@ﬁmﬁwmﬁ
SRITe (i TR St P sifiE a6t zea o |

(@) TN SN K ©IkH (72, {9 @ [ —a2 Reima 391 |

(}) R SRR o7 [ #9522 2 Teraa Foirs 3fe ey |

(o) TowtE! 99 (A FreIE 759 (ofe 2

(%) T A TN qGfeet ©f SR Fes o fge |

5. fsferfe Smwenft astigam s ¢ 40
Our total environment influences our life and our way of living. The main elements of our
environment are men, animals, plants, soil, air and water. There are relationships among these
elements. When their relationships are disturbed, life becomes difficult and impossible. By keeping
the environment safe man can ensure a healthier and happier life.
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HINDI LETTER WRITING, DRAFTING OF REPORT, PRECIS WRITING,
COMPOSITION AND TRANSLATION

Time Allowed—3 Hours Full Marks—200

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and
remaining ones ignored.

1. Fafafed # § frdt oo fara | 39 four =4ea # gu fdt 5= 9mRe & 9ues & U 79
ferfay (sftrendd 150 wssi #) : 40

(7 9l & 'H W XYZ fafau )
(%) SUSTIRT Tl THEn

(@) TS ¥ de T g
WE R ESEIE Il

2. Trafafaa fava 200 <5 § U Gueeshd ufaeer fafan . 40

3TfefeR ST 9T STRET0T AE9Th ¢ |

3. Trafeted = ar fafe . 40

ATl =hi Tehd SR w1 9Y & 91 AT 2, < Wifeca 39 faun <1 § ofR sream e © f o
A kel el dfcesh Toh HHIS ol 37 2, iR ufderg Tifecs 9o 01 Tfaeiiet s &, e el | 993,
TR HHIS! 1 e SHeh THY 6 WY TS I 8t i &A1 H Bl &, 7 i 516 o T qHI Hl 18 &
| 311 T SfCATH THS 1 YR § B! Heerita THfdeha arel 9@ 3, S S o 9§ o of T,
TRR | AR M & T e 3= A @ 3 faefaa @9 femn oin 7 € e ot # wmifea @9 feam
anfeardt HI & T aar 77 & %9 H Ag T | 9% sifue doeie, i el 3a),
3T, HETHieT, |YET § | 98 dlel-ord-TeR § R § | 98 Siio ol SAT9R 6l e, o9 S & 72 S
T 1 & fawdia wftfeafa & o §, | wefa A A8 T

4. A TR 6 TS R 3Tk SMHR W fU MU wgh % SR i 10x4=40

e A © o @i 78 1 g e & foeg R S aret gest SR I SR w6 el o SR
IR i Hifd T 9 % HifecsRi o fod, 79, <99 iR sifyyeafan o1 ssfeg wmferes foawma,
el 3R Fe | 3T faT=1a1 1 3 39 S THHA oft, fores faeg T oiv w@een g
TEH T TR & &1 H == Fifecd i GiY i T8 | Herasd WoreEd e i 30 & HRoT Tl &
Fl 3R drered % favg fert foa wieramem 3u 2t 7 3R s fod °u =9 & T gE i g9 R TR
T o F SR TR & Ui fose-ufe st w5 9ol gfecsrt iR wseEi @ At § un
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g ufas oIk s 9 i iema swea F o faerfiersn s o1, e ufa 37 srge famm &R
ayreeq ot | o Tord=raT il B o T AT W 3 3 GEe Fhedrd iR iRema viawd & o @i ufre o)
A B MU &7 T Ih! T TSR Yifek SR s $fed &1 w2 T a8 0 IR o eH A%
TR WY TSI I A forafera B R |

(%) STF T % for v suge it ferfen

(@) YEifa e & e T8 Hifsg |

(1) ToA i g o TR W 9 H 9 S Hied g8 2
(%) Iuerl T o WR S vt ferfEn

5, Tafafed T = fa<i | s1gare =iy 40

Our total environment influences our life and our way of living. The main elements of our
environment are men, animals, plants, soil, air and water. There are relationships among these
elements. When their relationships are disturbed, life becomes difficult and impossible. By keeping
the environment safe man can ensure a healthier and happier life.
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NEPALI

LETTER WRITING, DRAFTING OF REPORT, PRECIS WRITING,
COMPOSITION AND TRANSLATION

Time Allowed—3 Hours Full Marks—200

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and
remaining ones ignored.

1. Write a letter in about 150 words (any one): 40

(Write XYZ for name and address)

TRl HEA 5 U T o quo wssfi sa fogl erega |
(AT X STHTH I XYZ TReqer)

() SFYTHH TERTERT TH FAIS- T @I
(@) wyths fen T v ifa
() SIS | ¥ HEE WeTgeshl S+19

. Draft a report in about 200 words (any one): 40

T 00 VAT T3l RASH @ TR THe, (7 T3a) :
(F) R02R Hi favasy ke

(@) TR e g9 T faan

- Write a Précis of the following (use the special sheet provided for the purpose): 40
TR TR - TR THE :

T W TR A P B 1 W ST ST SE $0 Wy | Wre ov e el uf @ @
<RI e e Ui STehTel S8 T e TIeh 9T 0 &, TR A BT i SR SuH yawtaeE
o B =1 WS o Seerems T Fgemd 3 Sver TRy W uf wreel § st o T
T W TH @ 9 Wl FANl A9 <9 g <v @, W T e I |

. Elaborate the following: 20x2=40
e fore’ TR
() "B wefs iR R e s
Seiel Tel 2 el TeTeEsr’’
(@) ** eyupmn faa ®, foagamn sy’
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5. Translate into Nepali: 40
AT SFATS T :

Our total environment influences our life and our way of living. The main elements of our

environment are men, animals, plants, soil, air and water. There are relationships among these
elements. When their relationships are disturbed, life becomes difficult and impossible. By keeping
the environment safe man can ensure a healthier and happier life.
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SANTALI

LETTER WRITING, DRAFTING OF REPORT, PRECIS WRITING,
COMPOSITION AND TRANSLATION

Time Allowed—3 Hours Full Marks—200

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and
remaining ones ignored.

S D29 LU 9P (Letter Writing) - 40

P20 NZ 2UALIE LOILIAE PIAWANAC G2 UALHIZ LA0AU OADA0 bODID
bAGIVS NZ2E LALATIAVAN NOZE V60 GINYZ GIAZ 2.39). 09PA02 UALHIZ
(229 IPUZ 1| UG HEILU 29 HLOLIZ LIWAE U2 |

2. 9.00 27L2U LaTHd) Lo0ND). 9D 8939b 87092 22WIAR N2 UINAZ UIZONACAE
‘L2880 MO2NI0 dVOANIE’ G2P2WAPA PA.EAS 02 KAZ0AZ 9.09 €9 UID2P
PZba)02Z HLSLE PI.LOA bIALY) |

0. OO0 27LdU DZ BOLNEI.P PYIAANVLY) N2 2).39N022 bILD 9.27AD.LA G2b9
09WZ'LAZY) | 229 LA0IU 1DIDI0 UG UD0YUD0 2U 0LPLY UASHAR 8ANOA
Lanau apuz |

G. D7D DO LARV0Z 9).2709).LACAC DACIE N26AC GA.WAD L9).G).C NI U2ENE
2092 | VAN DYDY N2EAE LYNZ £9).37 82092 €9 9.274D).L7A bIVAG LINLANA
9.699.97 09W2ZE PY.bOZ bIZY) | 2929 VADMI0 UALHAZ LALIU 9PUZ |

21 NATON GADVIAE (Drafting of Report) : 40

O7Q @25 PZb@02Z 12.6H92NIE 0292 9.0 27ALIU D262 NA.LOA WIZ b GYHVLHE
baLd) | UZEZLOIE IV D2EIE 07bABBHY) ©9 PA.NY LAWY D2CANE WALTI0IP
DINZ G2 WHELE bAZY 1 A.0A DILOZD DAAGZD DMEZA DVANAD A27A K2h2D
U3AE N26GZ bd DOINADOANIE bILY) | ILYN02 VAAGCZD D2BANE 07Hb78899)
29 9.0 WILTY0IP 262 2ATIER P2bP02 MILLOZNY PA.LOA |

&1 DYNA). bY0OY) P (Precis Writing)
(U2.2U7 WIB2EZ 29WI PI.CAL 8920 229D 209.907 1)

YA'GZ QA'®Q). YEA UZER IDIE DACAN LAN0A
DD 0VPHL 0YWZ" bIOZ bI.UZA LbILD AZ2PIE |

DO2GZ 12.3720 PO20D d2EYE WA'LI.DS bILD 9PIE
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DOIELE 0916 WOHDAQ UINAZ PO G209’ LIUIE |

D0782).5 b20Z WAZYNE bHL3ZI.C 2UAEC LA.UA CHUIE |
WON7Q WAZZ HLLYLE PZLOIE bA.UA UANAZ HO.D |
8920 LaRa)E 9.07 bL322.6 AL HYEA M20
U2NAE WIZ2Z LLYLEY VLA bA.UA BAUAZ HDDAR |
80 NOZEAG bYLZI.@ 2UIR YEA WHNH WHNAZ 1
DBEZ bA.UA LSHE PZLOAZ bHZ2.G ALIU LIKOYE |
2).370 PZbOIT bH32.C bIUIG 0ACRIU 0222U bALOAE
LoK0d) bH29).c UG PA.GAP bI.UA 09bd LINIG |
82802 89PYE WIZLbD 2393 bH3.6 VALY TIANIG 1
DOOACZ bA.UA HLSLEADMILZ LILOARIADIZ bH3).G |
89799 202G 229 bL3d.c DL UDIZ UKND.GE I
DI).UZA LLOE L2).209).37@). LIL0D) bh3d.C 2999U |
V2VGIADIL 923 bI.UZA 02W2'Z 0DD DOIIAU I
GAMAE (Composition) .

P2I02D D2 2U ALbAZ LA0AU 202 UASHAZ 929P GADIZ U2 €00 GINIR 9).39).
299902 |

L9E09)39G PaALLYD 2D ALLIGIE

bO7 (Hints): — L222)GAG dAPI).UIPY) PAR PALSYD ___ KIZAU 9b0D I2RIE
L2398 ____ 02BPY) 9b02 N2EIAG L2DY) ___ GIL GHY 9H09 N2ERIE K299)
— K29 N2CIC 2e2U K2.32.0 — 2.09 D2ERIC LLHUAL 2D G229 Y9393
— KAE02)3 L90d) DZ DALLIARIZ D26AE VIR 299 9.3789.07 D2
OIS 9.0 WIZ9E PDLUZAS 2D .0 D2 NI ___ 9K0A009
D02)Q89)1Y D2@IIE bHdHULNY |

Translate into Santali: 40

Our total environment influences our life and our way of living. The main elements of our
environment are men, animals, plants, soil, air and water. There are relationships among these
elements. When their relationships are disturbed, life becomes difficult and impossible. By keeping

the environment safe man can ensure a healthier and happier life.
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ENGLISH LETTER WRITING, DRAFTING OF REPORT, PRECIS WRITING,
COMPOSITION AND TRANSLATION.

Time Allowed — 3 Hours Full Marks — 200

14150

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and
the remaining ones ignored.

(a) Write a letter to the Editor of a newspaper expressing your views on the problems caused
by the Mushrooming of unplanned buildings rapidly in the city. Also suggest some measures
to arrest this problem. (Write the letter within 150 words and use X, Y, Z instead of name
and address). 40

Or,

(b) Write a letter to a friend living in another country, describing the initiatives taken by you
to spread awareness regarding the benefits of planting trees. 40

Draft a report on the scarcity of availability of blood in blood banks as well as risks involved
in buying blood from blood banks, despite celebrating ‘Blood Donation Day/Week’ with all
pomp and show in almost every nook and corner of the city. 40

Write a composition on any one of the following topics: 40
(a) Involvement of the present generation with the Social Media: A Boon or a Bane?
(b) Global Warming and its impact on us.

(c) ‘Fostering Reading Habits in Children is the need of the Day’-Give your views for or against
the statement.

Write a précis of the following passage and add a suitable title: 35+5=40

The chief record of Wordsworth’s College life is to be found in ‘The Prelude’. Wordsworth
did not distinguish himself as a scholar, and if his life had any incidents, they were of that
interior kind which rarely appear in biography, though they may be of controlling influence
upon the life. He speaks of reading Chaucer, Spenser and Milton while at Combridge, but no
reflection from them is visible in his earliest published poems. The greater part of his vacations
was spent in his native Lake-Country, where his only sister, Dorothy, was the companion of
his rambles. She was a woman of large, natural endowments, chiefly of the receptive kind, and
had much to do with the formation and tendency of the poet’s mind. It was she who called
forth the shyer sensibilities of his nature, and taught an originally harsh and austere imagination
to surround itself with fancy and feeling, as the rock fringes itself with a sun-spray of ferns.
Through the greater part of his life she continued to be a kind of poetical conscience to him.



MSC(C)6/19 (2)

5. Translate any one of the following passages into English. 40

(a) FTFIORI 01 IHUTH 0 (AT R Neqi sifsrmsmi Fraferem e 19 sigsm = |
e, g Then wel T WA 2 TR W, ([RBRICS 2e G I 0 S (917
iR e 2 26 | *zree 92 MR QUREIS W @R | SEEEE T 2w w7 Ko
A CNAICET 20T AW (SR AT o181 | (AFASTS 7B Al SFIE ©F | NS ADOTO GOl
foe @2 Faerm i orfi | xS q e wE Sars e €311 G S A
3 SSEFN FRAIT 0 I SIRN, SR GToI | e wimiem o @5 fw 711
P I @O, - @6 G @Apic-g el et | o aew @ ivh! SN
@ TEETSl 79, T9R *IfE [ T FE (A OR[N G, O @A T GR AL B WG
Aol |

(b) TG CHA =PGRS (7 Fib (R AREAN T GO A HIF 32| A (FAEE N S
FE GRAN TR O | FIWF (AR IR0 1457 e o Fw AR T acE,
“2IIR @ T e e Gie Stites | SINIMR (IRAGE FEFHE SeEs 1954753
S GATRn | @R IS wleR Ty 2o e w1 | o Rmeiiela @idle @ T I @
T |7 FRATIA 439, 4 98 A Fieg) Ifoifna 32 R Faree Sies eiRvEa 7g
e vy o fRe FHET 2T | SRR GFE (9 FREACS IFT AW S AR s
G Fetece, “Eive fifeet! FeTe J6 fa Aeam sk @i e s Pt B
L (R @R e | e I elel 2@ (T 49w ARis wAisiEe o N 2R, GTe
€@ @ b1 AITH, ForE BT AE AW GIFOIE TR FO6! HceT |
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Candidates who will use Hindi passage in lieu of Bengali must ask for original question paper on
English Essay, Précis Writing, Composition and Translation, if not already supplied to them.

Hindi passage for Tr/anslation into English.

Translate the following passage into English: (any one)

5. Translate any one of the following passages into English: 40
(a) PICThIT TR feeell o Teh gadh STCHAM 3Tell A TRIRe SRt ol @M ol IS s | feh

TR § 91 A Yeel fafi= e & w39 79 | S on; o TR # et SR S o T ©
71 €l ? <1 e o, I T et | TR & 6 AT WRRd # T S ST o T 6§ | R
I B U SR foeweti fauTe S -1 R Sq e et aiens 1 e T, 9 o gaw E |
3% 1 I i@ & | R GHIS H STkl S S HHT 8, S 998 | 31 g i gesmife
FASIR TE L T | 3 gohi A SHad-5ed & Q0 Hehel sl w1 sAfasAr foRa €137 S A
AR HeX T 319 - ST SiTaA-Hersl & it A | favm 3 e 6 3 sroet Seme e
forvaer # gua § | fame 3 srmen o T sierfien 8 faer <o i %idn | 3% faere e fien o1
IR Seord o - FUTE SR S Tl ek Ui ¥ 1’ 37 < 3 el TR 3 HIS § e i
Ire TE B § afesh o A1d § o T i e 9g |

(b) TS TR & TIMERY ¢ Hie H 39 @Eedl # Sams % @ g ¢ | fafy= oraei =i

foparel 5@ g ot Far- Ty STl ox Tt it | gt o St A el - ¢ 3T v ve- o
SAfR foramarR & wfd sFe & T € | Fo e el | 8 o A g W il e & fag
a1 &1 1 78 el e fon foremamR =1 g dred & =erd 9 §e 8 @1 € A T | il a8 9 ©
o foamarR =3 o | 9 o o €1 Fes- e & fohae-gesh ¥ 98 @R 3T ol © | 39
THY S THIH A UIad o § T S i M & a1 § | Tifehd Teet it Tge s T
TR o OTH o1 | 98 il Tge 4F TEoi o U9 &1 o1 | Uoh cAfod, TSkt 30 TR Hek 91 &t
off, ST 39 Eot HE | [ g I SN eicht-pall TeTd & 3 el - |3 o 5 & wSn @ o,
3T Tee! Se TS wie § TSR @ 91 | 5 SR H Sefiforsi W 98 GoR <@l | I8 S 9
e o o e &t gfd dre < mi; 3He arg 77 g 5 g srgyfa A vl i formarr &
Tifa 3R ST o fean ®; e o 5 e % oo # € sieaw e e o1 1 R femmarR w
-4 IF T8 ¢, 39 iR TeH & e g1
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Candidates who will use Urdu passage in lieu of Bengali must ask for original question paper on
English Essay, Précis Writing, Composition and Translation, if not already supplied to them.

Urdu passage for Translétion into English.

Translate the following passage into English: (any one) 40

5. Translate into English (any one) :
S AWM Lo iuv P& nfypiiadotzifild ()
QSO BET I T SO 1y S AT SRRy
o %l-w%dd/zf;/g;i,w“&cﬁi.u ,y(f&;@-& b
YL IS s Sy S sssion i ey
Ve b Lf.,@(?ﬂf LUy —e by P s S U 25 S Unnios
O 2y

H o sl e dn e T e I8 A 10y (b)
ngfd{ﬁl’cugf—uiéﬁv’ff,U}?’Zj’j’ufl:@ﬁf@/wﬁf’fr%-uf
}-’«g-gﬁfllfﬁ&w‘g/./fbguf;;J&'-cﬁ/&gf:{dwld*l:’/d/kf“{t/.m{é_

/;L/L))JE:J/DL?U?}J:_LTL&/‘?@- t/./?u%:dm.ﬂ;/v;‘»futuy}&
.:-.4_/2./@5»‘_}1 U dip,.(lng_f)j.: ng_ oz L"uu:,,fpfﬁi_hgé_j;,‘/{é
Al e rse et S S S 225 S ORL e K i

& 5P LS ieas 3P ARt e s\
& e i f Ukt 36 (PG Sy Vs WP e JE DL £ 5P P
L,~35JJ4u'2: lf,.}_._aLJﬁt@%ﬁ'%’%'ﬁaéﬁd’)&;q}”él.(u])u'u’:”,l/
uﬁ’u,c!é u:@p{c’: ng(_j?./fc':/fl/.@»-'/yszzLJ:uﬁ»f-‘a yégu‘?/.‘Kfu

7o W& S
-ﬁa@u:z_/'giy’{u"}?uzu(}'iﬁ:/s-]ﬁlg,;})’t{{-lg
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(3) MSC(C)6(RN)/19
2019

Candidates who will use Nepali passage in lieu of Bengali must ask for original question paper on
English Essay, Précis Writing, Composition and Translation, if not already supplied to them.

Nepali passage for Translation into English.

Translate the following passage into English: (any one)

5. Translate into English (any one) : 40

(a) TheTehed! ST FrefieesT Wt fafar wm aReeu T fo foeeien gah s/ siefiel | T
T ST Y SATEAT 71 04 33 Tl foh Teatin s weentemmit g5et fat (Wheel chair)
T @l @™ (Ramp) B o 8717 STRieH 3 Sich TR0 7301 | S83eh! S e et L&adim @M
T B AN K Hfqa<t gaeh (a9 el Iel-Terl 3 WU FH GATT | iferaie] 33
TEaC g1 ST U ol |

US| GAqarhl SHEe! A g8 SIaH o8 Sandy T Tehd | SR Srgfaen 3tfased TR g
Sraen! g5 SR A 21S farieset | Afg SagsHT Tl el Sfaehl 0 SHieee] ST Sl
UL AT | fayrEet 9 (Crutch) Torat | fage i 0 9 AT | &R Sier i (Wheel
Chair Fencing ) Fi<ishl #ee (Silver Medal ) T Sfieht ford | 39e1 97 o T gafeTan gigd A
0 AR 21 | FHISHH AIEATER IHEE SIS A6 (o A1 87 THIS Tl 4 et 2 |

(b) el SRR TN =0T < T2 |1 <9 5ol HaH 3THg [dhes YURUEH B | T Crashesd
N STERT STET TR S AU B | A 9R Juiui=y o agad sl fd safed 9
foremamm <1 fersermn, 20 g <rmm fd fe7 3fa 3 2 avivfte fom e o e o 13 T
fd TeehrSTeTs are? T foremamR & for Faf TR S 33 d Big? T&ish remehl @, sifeet
R T TRTHT ST Ui JEae st a1 U STmEiR auifed wifee 39 emsadie
T for |

< I ol Teh ST Wl d19d g5 Fal Hidl el omeehl Al s o, ™1 o S[ers s
STEITE! 3 W =R eI 4 | 3R TR Fo sfto Biew farfersh T 2 fomamment gfd sepeant e 9
3T | e Hfd vehes SER wfeet d T A @ Ui Het W T 1 sem fammeme
T oAl T3 el ey Feeh foamarrers #uel 0 farer |
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Candidates who will use Santali passage in lieu of Bengali must ask for original question paper on
English Essay, Précis Writing, Composition and Translation, if not already supplied to them.

Santali passage for Translation into English.

Translate the following passage into English: (any one)

5. Translate into English (any one) : 40

(a)

(b)

b3PLY0INZ W2 bY0Z GA0Z LIAPIE SILOINIANZ DANAGILA DAU DZEIE 2
OMboPGoLY) b2ed) @7PP7A  NACAD b239) aINUIL P7A 1 UZELOIE
NZLODNIINZ 89IPAG PYPWY) UL 2092202 bILPZA L2N2ZD 9)92©2), NZLOBNI)NZ
WB7AP (Wheel) 82@2)> N2U UZEE 903 ? PIWI) 727 bI0Z DI0S ILIE2
NOZAL 229) | E2GID DNZEIAG U SZLNONINZ d2UT DVILHLE-2) | VUL
PZbIe TINOADESOA bI3Y) VDADQIL @IL 039U OIAWAN SZEAGC )6U)
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2019
URDU, LETTER WRITING, PRECIS WRITING, COMPOSITION AND
TRANSLATION
Time Allowed—3 Hours Full Marks—200

If the questions attempted are in excess of the prescribed number, only the
questions
attempted first up to the prescribed number shall be evaluated

and the remaining ones ignored.

The figures in the margin indicate marks for each questions.

All questions carry equal marks.
1. Wtite a letter from the following topics to the editor of an Urdu newspaper

in 150 words. Write X, Y, Z, in stead of your name. 40
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HE SAGSTIAE (@)

2. Draft a report on the following topic in 200 words. 40
- KON gjud._

3. Write a precis of the following passage in Urdu (Use special shde 40
provided for this purpose).
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4. Read the follwing text carefully and write the answers of the questions. 40
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5. Translate into Urdu. 40
Our total environment influences our life and our way of living. The main
elements of our environment are men, animals, plants, soil, air and water.
There are relationships among these elements. When their relationships are
disturbed, life becomes difficult and impossible. By keeping the environment

safe man can ensure a healthier and happier life.
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DO NOT QOFEN
119
TEST BOOKLET TEST BOOKLET SERIES
Paper-111
Time allowed : 3 hours
Full marks : 200
Answer all the gquestions

Questions are of equal valus

L5ORY

Signature of the Candidare:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This booklet consists of 24 pages including this front page. Verify the Pags Nos. and Test Booklet
Series on cach page and bring at once to the Invigilator's notice any discrepancy.

Answers will have 1o be given in the Special Answer-Sheet supplied for the purpose

Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent to you in the
Admit Card, Do not fold the Answer-Sheet as this will resulf in error in your marks.

All questions are of multiple-choice answer-type. You will find fowr probable answers (A), (B,
(C} and (D) against each question. Find out which of the four answers appears to you to be correct
or the best. Now darken the circle comesponding to the letter of the selected answer in the Answer-
Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Admit Card
and in the Answer-Sheet.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle} or in wrong circle will be considered as wrong answer,

There will be negafive marking of % mark for each wrong answer.
There is a blank page at the end of this Booklet for Roagh Work.

The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examinaiion
Hall. You are permitted to take away the used Test Booklet after completion of the examination,
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1. Which of the following is not a feature of
Laothal?

{A) Discovery of 4 dockyurd

(B} Rectangular end circular fire alters
for animal sscrifice

(C) Depiction of & ship on a seal

(D) Evidence of the use of the plough

2. Who was the propounder of the Ajivika
Sect!
(A Purana Kassapa
(B) Pakoddha Kaccayana
{C) Makkali Gosala
(D) Ajita Keshakambalin

3. Thespies during the Sangam age was known
da
(A) Spasas
(B} Dutas
{C) Orrars

(3} Sanpayvans

4. Lands, during the post-Gupta period, were
classified on the basis of
(A} Being cultivated and uncultivated
(B) Being irngated and unirrigated
(C} Crops being grown on the lands
(D} All of the shove

5. The Pallava-Chola styvle of architecture is
commonly known as
(A) Pullava
(B) Chola
(C) Magars
(D) Dravids

6. The largest standing army of the Sulianabe
directly paid by the stabe was created by
(A) Hutmish
iB) Alsuddin Khilji
{C) Muhammad Bin Tughlug
(D) Sikandar Lod

7. The Muslim kingdom of Golconda grew up
o the ruins of the old Hindu kKingdom of

(A) Devagin
(B} Dwarsamiudea
(C) Warrangal

Ty} Kanchi

8. Which of the following did not form part of
the contingents maintained by the mansabdars?

(A} Cavalrymen
(B} Artilberymen
(C) Bowmen

(D) Muosketeers

9, The chief Duich export from the
Coromondel Poris was

(A) Textiles
iB) Indigo
(C) Spices
(D) Salipetre

10, Which of the following 15 nol one of the
arrangements made by the English after defesting
the Marathas in the third Anglo-Maratha war?

(A) The Peswaship was abolishesd.

{B) Holkar was forced to enter into a
subsidiary allisnce.

(C) TheGaekwarenterad into a subsidiary
alliance.

D) The small kingdom of Satara formed
out of Peswa dominions was givesn o

Pratap Singh




11. Whais known as the *Plato of the Jat tribe"7
(A} Rajaram
{B) Churaman
(C) Badan Smgh
(D} Surajmal

12. The Nawab of Awadh who was appointed
the Wazir of the Mughal empire was

{A) Sadat Khan
(B) Safdar Jang
(C) Asal ud daula
(D) Masiruddin

13. After Bengal, the English secured the rights
of duty free trade in the dominions of

(A) Raja of Benaras

(B) MNawab of Awadh

(C) The Nizam of Hyderabad
{3} The Jats of Bharatpur

14. A remarksble feature of the spread of
landlordism was the growth of

[A) Arnsiocracy
{B) Capitalism
{C) Sub-infeudation
(D) Cultuvation

15. When did the Company lose its monapoly
of Indian trade which was thrown open to all
Britons?

(A) 1813
(B) 1833
(C) 1853
(D} 1793

MSC(C)-7/19

16. The extension of the cultivation of indigo,
cofton, opium, tea and coffee in India, besides
benecfitting the British planters, also benefited

{A) The Zamindars

(B) The small merchants
(C) Both (A)and (B)
(D) The Indian Bankers

17. What was the primary reason for the failure
of Mahalwari Setilement in checking the process
of destruction of the village communities?

(A} Ivwas introduced only s a temporary
measure to be replaced ultimately by
the rayatwari system.

(B) Individual rights in the lind were
recognized and gaamnieed by the state,

(C) There were several defects and lacunas
i the implementation of the measure

(D} It met with severe opposition from
certain sections of the village
COMMmunity.

18, Which of the following was the chief
organizer of the Revolt of 1857 in Bihar?

(A) Amar Singh
(B) Kumwar Singh
(C) Pir Ali

(D) Imaduddin

19. Which of the following consequences of
the British mule did not affect the Muslim middle
classes?

{A) The tyranny of the British Indigo
Planters

(B) The disbandment of the Nawab’s
forces

(C) The abolition of the rural police

(D} The resumptions of Imam's lands
which provided sustenance to the
leamed

Plense Turn Ower
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20. The first session of the All India Trade
Union Congress held in Bombay in 1920, was
presided over by

(A) Jawaharlal Nehru
{(B) V.V.Gini

(C) Lala Lajpat Rai
(1) N. M Joshi

21. What was the solution found by B. R.
Ambedkar in later years after Independence to end
the hardship of scheduled class people?

(&) More Représentations
(B) Separate Electorate

(C} Embracing the Buddhism
(D) Organized Movement

22, Duringthe first twenty years of the Congress,
which of the following acted as president of the
INC thrice?

(A} Surendra Math Banerjee
(B} Dadabhai Maoroji

(C) Gopal Krishna Gokhale
(D} Sonkaran Nar

23, Aurcbindo Ghosh was brilliantly defended
by
{A) Chittaranjan Dxas
{B) W.C. Bonerjee
{C) Motilal Mehru
(D)} Te) Bahadur Sapru

24, The Hindustan Socialist Republican
Aszociation movement ended with the death of

(A} Bhagat Singh

(B) Ram Prasad Bismil

(C) Chandra Sekhar Azad
(D) Jogesh Chandra Chatter)i

25, The Congress gave up its ideal of a United
India and accepled partition, because
(A) The country was sinking into a civil
war
(B} Thecongressleaders feltthat partition
was a lesser evil than a civil war

{C) The congress leaders succumbed to
the temptation of power and struck a
deal with the British

(D} Themternm Govi had become an arena
of struggle

26. Mahatma Gandhi first experimented with
his technique of Satyagraha in

(A) Champaran

B} Ehern

iC) Ahmedabad Mill Strike
(D) Anti Rowlam Act Agitation

27. A senior congress leader, who held that the
Quit India Movement was misguided and
detrimental to India’s long term interests, was

{A) Tej bahadur Sapru
{B) Jayaprakash MNarayan
(C) C. Rajagopalachari
(D) J. B. Kripalani

28. Muich the social reformers of the ninstcenth
century with their individual contributions:

(a) Raja Rammohan (i) Abolition of Sati
(b} Keshab Chandra  (i1) Intercaste marmiage,

Sen widow remarrage
and emancipation of
WD
{c) Jyotiba Phule (111} Removal of
umtoec bty

{iv} Shuddhi movement
and rejection of
hereditary casle
Sysiem

() (b) dc) (d)
(AY (1Y (@) (i) (iv)
(By (i) (i) () €iv)
(Cy iy () Civ) (i)
(D (1) (i) vy Qi)

{d) Dayanand
Saraswati




29, The precurser of the Indian National
Congress was

(A) Indian Association of Calcutta
{B) Indian National Conference
{C) British Indian Association
(D) The Indian Union

30. The name ‘Indian National Congress' was
given by
(A) 8. N.Banenee
(B) Dadabhai Naoroji
{(C) Feroze Shah Mehta
(D) M. G. Ranade

3. The first president of the Indian National
Congress was

(A} A.O. Home

(B} W. C. Bonerjee
(C) S N. Banerjec
(D) Dadabha Naoroji

32. Who said “The Congress is tottering to its
fall, and one of my great ambitions, while in India,
is to assist it o its peaceful demise”?

(A) Syved Ahmed Khan
{B) Raja Shiv Prasad
(C} Lord Dufferin

(D} Lord Curzon

33. Amrange the following events in the commect
chronological order:
I. Pamition of Bengal
Il. Varanasi Session of the I N. C.
. Caleutta Session of the 1. N. C.
IV, Foundation of Muslim League

(A) 1 0 m IV
(B) M 1 IO v
€ I oI Iv I
D I I o 1Iv
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M. The immediate cause of the Surat Spht
(1907} between the moderates and the extremists

WS

{A) the Boyeott of the moderates by the
extremists,

(B} theelection of the President of [ N. C.
(C) the Swaraj Resolution.

(D) theextremists resolution of Swadeshi,
Boycott, National Education and Self-
Government.

35. The Calcuita session of the L N. C. (1906)
marks a turning point in the history of the congress,
because

{A) it marked the end of the twenty years
of the . N. C,

(B) it marked the end of the moderate
phase of the I. M. C.

{C) it adopted the resolutions regarding
Boycott, Swadeshi, National
Education and Self Governmeént.

(D) itwas the last sezsion whenthe | N. C.
was dominated by the old guard.

36, Who were designated as Neo Nationalists?
{A) Extremists
(B) Revolubioneries
(C) Moderates
(D) Swarnjists

J7. The L N. C, became both ‘Indian’ and
‘National” in reality as well as in rare, at the
(A) Surat Session (1907)
(B) Calcuna Session (1906)
{C) Locknow Session (1916)
(D) Lahore Session (1929)

Please Torn Over
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38. Maich the papers or periodicals with the
Mational leaders who Published them
{a) Abul Kalam Azad

(b} Pheroze Shah
Mehta

(¢) Mrs. Annie Besant (i) Young India
id) M. K. Gandhi
) by (e} (d)

(i) Bombay Chronicle
{ivh Al Hilal

{1v] Mew Indix

(AY () 0O) (v} (W)
(B) (1) (i) (i) (iv)
(Y (i) () o) )
(DY i) i) (i (iv)

39, Amange the following events in the comect
chronological order

I. Bombing on Lord Hiardings
[I. Transfer of capital from Calcutta to Delhi
I Outbreak of the First World War
IV. Gandhiji’s arrival in Indin
% R I v M
(B) 1 H OO Y
O m 1 1 w
Dy 0 1 WM ¥

40. Match the founders of the following
revolulionery organisations:
(o} Anushilan Samiti ) ¥, [, Savarkar
(b} Abhinava Bharata  (n) Barnindre Kumar
Cihosh
(¢} Ghadar Party (iii} Lala Hardayal
{d) Hindustan Socialist {iv) Sachindra Math
Republical Army sunyal and Bhagat
Singh
(a) (b)Y (e} (d)
(A) (i) (@) (i) (iv)
(B) (i)
() (i) () Gy {iv)
(D () (iddy o () 1)

() (i) {iv)

41. Matchthe epithets of the following National
Leaders:

{a) B. G. Tilak {1} Lokmanya

(b1 Amdrews (i’ Dinabandhu
(c] Madan Mohan (111) Muehamana
Malviva

{d) Lala Lajpat Rai (iv) Punjab Kesari
fay (b) () dd)

(AN 1)

(B) ()} (1) (i (iv)

(C) CiiEy iy () (iv)

(D) (iv) (i) (i) (i)

) () (i)

42. Which of the following was not the result of
the Home Rule movement of Tilak and Besant?

(A) The L. N. C. and the Muslim League
both thought of starting a passive
Resistance’ movement,

(B} The Home Rule compaign virtually
ousied the modenstes from the political
field.

(C) The 1. N. C. became the 'Congress of
Tilak and Besant”,

(D) The movement generated a cultural
awakening in India,

43, Jatin Das, who died (September 13, 1929)
after a long hunger sirike in the prison, had been
arrested in connection with

(A) Muorder of Saunders

(B) Throwing of bombs in the Assembly
at Delhi

{C) Lahore Conspiracy case
(D) Meerut Conspiracy case

44. Who is regarded as “the Mother of Indian
Eevalution”?

(A} Mrs. Annie Besant

(B} Snehlata Wadkar

(C} Sarojini Maidu

(D) Madam Bhikaiji Rustom Cama




45. The President of the Lahore Session of the
[.N.C. (December 1929) which passed the Purna
Swaraj resolution was

(A1 Moulal Nehru

(B} Jawaharlal Nehru
(C) Srinivas Ayengar

(D) Subhag Chandra Bose

46. The famous ‘Puma Swaraj Declaration’,
which says: “We hold it to be a crime against man
and God to submit any longer 1o a rule that has
caused this fourfold disaster to our country™, was
prepared by

(A) Jawaharlal Nehru
(B M.K. Gandhi

{Cy Motilal Nehru
(D) All of the above

47. The greatest meritof the Gandhi-Irwin Pact
was that:

{A) The LN.C. agreed 1o join the Second
Round Table Conference.

(B} Farthe firsttime the LN.C. wastreated
on a footing of equality as a political
Dpponent.

iC) Gandhi, the ‘half naked Fakir',
ascended the staircase of the Viceregal
Lodge.

(D) The LN.C. gained a status and
authority to speak for political India.

48, Opposition to the Gandhi-Irwin pact was
mainly

(A) because of the execution of Bhagat
Singh, Sukh Dev and Raj Guru.

{B) because the LN.C. reneged the Pumna
Swarajya pledge.

(C) because of suspension of the Civil
Disobedience Movement.

(D} because the Pact was a self delusion.
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49, After the Gaya Session of the LN.C. in
Decemnber 1892 anew party was formed by Motilal
Mehr and C.R, Das. 1ts name was

(A1 National Liberal Party

(B} TheCongress Khilafat Swarajys Party
(C) Swarajya Party

(D) Swarnjya Congress Pany

80, The Meerut Conspiracy Case, in which 27
accused persons were defended by Juwaharlal
Nehru and KN, Katju, related to the members of
the

{A) Ghadar Party

(B) Hindu Mahasabha

{C) Indisn National Congress
(D) Communist Party of India

£]1. The issue of discussion and stalemate at the
Second Round Table Conference related to the

{4) Communal Problem

{B) Federal Structure

(C) Demand for Purna Swarajya

(D) Representation of Depressed Classes

52, Whoof the following was not hanged in the
famous Kakori Train Dacoity Case?
{A) Pandit Ramprasad Bismil
{B) Roshan Lal
{(C) Ashfaqulla Khan
(D) Surya Sen

53, The Chittagong Armoury Raid had been
planned by

{A) Surye Sen
(B) Chandra Dutia
(C) Vidhan Ghosh
(D) Jatin Das
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5. The two greatest women revolutioneries of
the Mational Movement=Prtilata Wadedar and
Kalpana Dutta were the revolutionary co-workers
of;

{A) durva Sen

(B) Bhagat Singh

(C) Batokeshwar Dutt
(D} Chapekar brothers

55. Who murdered Sunders, Assistant
Superintendent of Police, Lahore, for assualting
Lala Lajpat Bai?

(A Bhagat Singh
(B) Batukeswar Dutt
(CY Sukh Devy

(D} Ry Guru

56. Why did Bhagat Singh end Batukeswar
Dun throw bombs on the foor of the Central
Assembly in New Delhi and in the Process got
themselves arrested?

{A) After the murders of Sanders at
Lahore, the people were suffering
termibly ai the hands of the Police.

(B} A feeling bad slowly gaimed around
that the people had o suffer the
consequences of the crimes committed
by Bhagat Singh, eic. to remove such
a fechng H.5 R A. decided 10 send
wo members (o commit a crime and
then to court armest.

{C) Tocreate a sensation all over Indiain
order to remove political lethirpy

(D) All of the above

57. Jatin Das, an accused in the Lahore
Conspiracy Case, on whose death the family of
the Inish martyr, Teren Macswiney sent
condolence message to the family of Das, died
after undertaking a fast of _ davs,

(A) fifty six
(B} sixty three
(C) seventy two

(D) eighty onc

58, Subhas Chandra Basu was unanimously
elected Fresident of the LN.C. ai the Harpur
Session held in February:

(A) 1936
(B) 1937
(C) 1938
(D) 1939

59. What was the fundamental difference
between Subhas Chandra Basu and Gandhi-Nehr
group, which led to the defeat of Gandhiji's
candidate for the Presidentship of the IN.C.?

{A) Gandhiji had a persomal dislike for
Basu.

(B) Bazu had radical and socialist ideas

(C) Basu wanted to exploit the war
berween Germany and Britsin (o
India’s advantage and said:
"England’s mecessity is India's
opporfunity”

(D)) Insinuations made by Basu against
Gundhiji that he was not keen on
carrying on the National Struggle.




6l The Tripuri Session of the LN.C. (March,
1939) was a historic event on account of

(A} the victory of Subhas Chandra Basu

g5 President of ILN.C. against

Gandhiji’s nominee, Pattabhi
Silaramayya.

{B) the resignation of the entire Working

Committee except Subhas Chandra

Basu and his brother Sarat Chandra

Basu,

(Ch the reselution to frame a Constitution
of free India.

(D} rejection of the British Foreign Policy
by the LM.C.

61. After Leaving the Congress, Subhas
Chandra Bose organized the Forward Block in
(A) 1939
(B} 1938
(C) 1940
(D) 1941

6. The main principle of M.K. Gandhi's
famous Basic BEducation System or Wardha
Scheme was:

(A} Learning through activity

(B} Learning through productivity
(C}) Earning and learning

([}} Learming and spinning

63. Match the following evenis with the daies
of their occurence:

() Adigust Offer L AugustS-11,1942

{b) Amval of [1. July 14, 1942
Cripps Mission

(c) QuitIndia . March23, 1942
Resolution

(d) The Great August IV, August 8, 1940
Uprising

(@ ) @ (@
(A) IV 11 I 1
(B) W I I W
(C) IV I I I
oy IV 111 I 11
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64, The four brigades of the LN, A, were named
after:

(A) Lal, Bal, Pal, Subhas

{B) Surya, Chandra, Jatin, Bhagat

(C) Gandhi, Azad, Nehra, Subhas

(D) Ganga, Yamuna, Narmada, Kaveri

65. The first Provisional Government of Free
India was inaugurated by Subhas Chandra Basu at
(A) lmphal
{B) Kohima
(C) Singapore
(D) Rangoon

66, British Prime Minister Atilee made the
historio snnotncement of the end of British rule of
[ndia on

(A) February 20, 1947
(B) August 16, 1946
(C) March 7, 1947

(D) December 9, 1946

67. Lord Mountbanen’s Declaration on the
Freedom of India and its partition is known as
(A) The August Flan
{B) The June 3rd Plan
(C) The June 2nd Plan

([} The Partition Plan

68, A bnlliant and patriotic Anglo-Indian
teacher, Henry Yivian Derozeo, was the founder
of:

(A} The Young Bengal Movement
(B} The Indian National Union

(€) The Servants of India Society
(D} The British [ndia Association

Please Turn Over
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69. Match the authors with their works:

{(a) Dr.Rajendra Prasad 1. The Nations Voice

(b) Abul Kalam Azad 11 India Divided

() ¥.I» Savarkar I, Tndia Wins
Freedom

(d) C.Rajagopalachar IV. Indian War of
Independence

(a) (b} (g} (d)

(A) I m w1
(B) I ] i Y
(C) 1 O I ¥
(D) 11 [ 1 [V

T0. Certain movements of the early twentieth
century descnibed a8 "Movements- from below’
WETE

(A) Caste movemenis
(B} Bevolutionary movements
(C} Peasant and tmbal movements

(13) Socio-religions movements

T1. Match the authorz and the works:

{a) Scepired Flute [. M.K, Gandhi

(b Savitri Il Sarojini Maidu
(c) Indiaand the world (11, Aurobindo Ghosh
(d) Conguest of Self IV, Jawaharlal Nehru

(a) by (e} )
(A) | i i1 v
(B) IV 11l ] |
() Il 1 R I
(D) 11 I L% [

T2, What approximaiely was the number of
Princely States which legally became independent
at the lapse of British paramountey on August 15,
19477

(A 300
(B) aii
(C) 150

(D) 700

73, Ridiculing the idea of Swarajya in 1903;
who said, *Only mad men cutside lunatic assylums
could think or talk of independence™?

{A) Lord Carzon

(B) Lord Hardinge

{C) Gopal Knishna Gokhale
(D) Pheroze Shah Mehia

74, During the British rule the only British
King tovisit Indin and hold his magnificent Durbar,
WLE:

iA) BEdward W1
(B) George V'
(C) Jumes 11
(¥ Edward VI

75, A Muslim organization, which proposed
during the First World War that Muslims should
participate and try Lo reach an scoord with the
Congress, was

iA) Mushim League

(B} Ahmadiva Movement
(C) Ehrar League

(¥ Deoband Movemen

76. Bal Gangadhar Tilak was given the epithet
of Lokmanvya during:
(A) Swadeshi Movement
iB) Revolutionary Movement
(€} Home Rule Movement
(D) His imprisonment in 1908

T1. The only Indian prince, who actively
participated in the revolutionary movement within
and cutside India, was

(A) Hajo Mahendru Pratap
{B) Kunwar Singh

(C) Chhatrapati Sahu

(D) Raja Ripudarman Singh




78. Dadabhai Naoroji waselected to the British
House of Commons as a member of the

party.
(A) Conservative
(B) Liberal
(C) Labour
(1Y Labouor-Liberal Comibine

79, Which of the following was not a leader of
the All India Hindu Mahasabha?
{A) V.D: Savarkar
{B) Bhai Parmanand
(C) Dr. Shyama Prasad Mukherjee
(D) M.R, Jayakar

80. Who founded a Social Organization, the
‘Jat Pat Torak Mandal' in 1922, for breaking the
caste barriers among the Hindus?

(A) Bhai Parmanand
(B} Dr. B.E. Ambediar
(Cy MLG. Runade

(D) Keshab Chandra Sen

81, Who gave the tile of Rani to the Naga
woman leader Gaidinliu?
{A) Subhas Chandra Basu
(B} Jawaharlal Nehru
(") Thakkar Bapa
(D) Mahatma Gandhi

82. Who was the first 10 unfurl the first Indian
Naticnal Flag, the parent and precursor of the Flag
of Independent India?

(A} Madam Bhikaiji Cama
(B) Dadabhai Naoroji

i{C) Raja Mahendra Pratap
(D) Taraknath Das

r——i
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B3, The Nehro Committes Report got a decent
burial at the hunds of the Congress at the
Sesston of the LN.C.

(A) Calcutta
(B} Madras
(C) Lahore
(¥ Bombay

84. Which of the following revolutionary and
terrorist organizations had a large number of young
women revolutionaries !

{A) Yiganior

(B} Anushilan Samiti

(C) Bharat Mata Society

{D) Indian Republican Army

85. Which of the following acted as President
af the Indian National Congress for six Consecutive
years?

(A) Jawaharlal Mehru
(B} Dadabhai Nacnoji
(C) Abul Kalam Azad
(D) Gopal Krishna Gokhale

86, The Vaikkom Satvagraha was lsunched in
1924 for

(A} opening the temples to the low casie
Hindus.

(B) fighting against the exploitation by
the Landlords.
() removal of Press restrictions

(D) democratisation of the administration
of Travancore State.

87. Gopal Hari Deshmukh is popularly Known
a5 ‘Lokhitwadi® because:

{A) He was a great philanthropist and
social worker,

(B) He disributed money and medicines
to the poor and the needy.

(") He edited a monthly magazine the
‘Lokhitwadi.

(D) All of the above

Please Tarn Over
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88. Madan Lal Dhingrs murdered Curzon Wylie

in London, who was afen
(A) Adviser to the Secretary of State for
India.
(B) Secretary of State for India
(C) Former Govemnor of the Punjab

(D) Law Member of the Viceroy's
Executive Council

89, Whoedited & Bengali weekly the *Jugantor”
and ‘Basumati'?
(A} Barindra Ghosh
(B] Aurobindo Ghosh
(C) Ganesh Ghosh
(¥ Anand Mohan Bose

90, He was a great Indian revolutionary who
was i Professor of Sanskrit and Philosophy in the
Universities of Berkeley and Standford and died
as a sanyast in Philadelphia, He was:

{A) Shyamji Krishna Verma
(B} Lala Hardayal

(C} Bhai Parmanand

(I} Ram Chandra Bhardwaj

91. The European Organization in India which
launched agitation against the [bert Bill was:
(A} European Defence Association
(B Indo-Brotish Association
(€} Anti bert Bill League
(D) European Rights Front

92. Afver the Surat split in 1907, the Second
Split in the Congress took place in 1918 on the
issue of:

(A) Lockmow Pact
(B} Montagu Declaration

(C) Election of Mrs. Annie Besant as
President of the INC (1917}

(D) Both (A) & (C)

A-12

03. A Public Service Commission was
established in India for the first time by

[A] The Indian Council Act 1892

(B) Actof 1909

(C) The Govemment of India Act, 1919
(D) The Government of India Act, 1935

94, The day M.K. Gandhi launched the Non-
Co-operation Movement, a greal Mational leader
died, he was:

{A) Gopal Krishna Gokhale
(B) Bal Gangadhar Tilak
(C) Pheroze Shah Mehta
(D} C.E. Das

95. The founder President of the Harijan Sevak
Sangha, founded by M.K. Gandhi, was

(A) Mahadev Desai
{B) G.D. Birla

{Cy Ammrt Lol Thakker
(D) B.R. Ambedkar

96. Who killed Michael O Dyer, the Governor
of Punjab, who had ordered the brutal firing on the
mnocent people at Jalianwala Bag?

(A} Madan Lal Dhingra
{B) Sardar Udham Singh
(C} Sohan Singh Bhakra
() Kamai Lal Paatt

97. After the Partition of Bengal, the two new
provinces which came into existence were:

{A) East Bengal and Bengal
(B) East Bengal and West Bengal
(C} East Bengal and Assam
(D) East Bengal and North Bengal




98. The brain behind the bomb attack on
Viceroy Lord Hardinge at Chandni Chawk, Delhi
in December 1912, was:

(A] Rasbehan Basu

(B) Bhai Parmanand

{C) Sachindranath Sanval
(D) Shobhan Lal Pathak

99, The Historic Lucknow Session of the
Congress in 1916 was presided over by
{A) Mrs. Annie Besant
(B) R.N., Mudhokar
(C) Ambika Charan Majumdar
(D) Madan Mohan Malyviya

100. The Congress decided to raise a Swaraj
Fund of one crore rupees for:

(A) Organizing the Non-Co-operation
Movement

(B) Memorial of Bal Gangadhar Tilak

(C) Building the headguarters of the
Congress

(D) Supporting the families of the political
workers,

101, Black soil is mostly found in
states of Indiid

(A} Maharasra and Gujrat

(B)] Miaharastira and Rajasthan
(C) Andhra Pradesh and Kerela
(D) Bihar and Madhya Pradesh

102. Wettemperate forestis foundin
region of India.

{A) Nilgin

{B) Eastern Grhats

(C) Kashmir Himalayas
(D} Kachch Peninsuls

A-13
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103. NSCO hasironandsteel plantat
(A} Rourkela
(B} Burnpur
(C) Shimoga
(D) Vishakapatnam

104, The full form of the abbreviation NLM is

(A) Morthem Line of Monsoon
(B) Normal Line of Monsoon
(C) Northern Limit of Monsoon
(D) Normal Limit of Monsoon

105. ‘Doordarshan’ is the brosdcasting agency

of :
(A) Prasar Bharati
(B) Akash Vani
(C) Gvan Bharati

(D} National
Corporation

Film Development

106, “100 Smarnt Cities Mission® was launched
by Indian Government in the year

(A) 2014
(B) 2015
() 2016
(D} 2013

107, is 4 central university in
West Bengal.

{A) Gour Banga University
(B) Rabindra Bharati

{C) Vishwa Bharat

(B University of Calcutta

Please Turn Owver
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108. India Standard Time is ghead

of Greenwich Mean Tiome.
{A) 6 hours ) minutes
(B 4 hours 30 minutes
{C) 5 hours 30 minutes
(D) 6 hours 15 minutes

109. The 15 first national park
established in India in the year 1936.

(A) Bandhavgarh
(B Gir

(C) Indirs Gandhi
(D) Jim Corbett

1140. N
state of Jharkhand.

{A) Bhitarkanika
(B} Betla
(C) Bandipur

national park 18 located in the

(D)) Bandhavgarh

111. 15 declarad as national park in
the vear 2014 and became the newest national park
of Indin

iA) Dachigam

(B} Goramara
(C) Jaldhapara
(I3} Inderkilla

112. The Indian Wild Life Protection Act was
passed in the year

{A) 1962
(B) 1972
{C) 1975
(D) 1965

A-14

113,
in India
(&) Uttar Pradesh
(B} Andhra Pradesh
(C) Harvana
(D) Rajasthan

is the highest producer of milk

114. Barren Island Wild Life Sanctuary is located
in
(A} Dadra and Nagar Haveh
(B} Pondicherry
(iC) Andaman and Nicobar Tsland
(D) Lakshwadeep

115. The Dravidian rock system is found in
______region
(A) Krishna Valley
(B} Chowmagpar plateau
(C) Spit Valley
D) Damodar Valley

116.
and Zaskar range.

vlley liesin between Pir Panjal

(A) Kangra
(B) Kashmir
(Cy Kulu
(D Dun

117. The famous _
it Mubsa Valley,

(A} Baltora

_____ placier is located

{B) Punmah
{1 Siachen

(0¥} Kanchenjonga




118. The Zoji La pass is located in
state of India.

(A) Jammuo and Kashmir
(B) Himachal Pradesh
(C) Sikkim

(D) Arunachal Pradech

119. The Marwar plain is found in
{A) Rajasthan
(B} Gujrat
(C} Maharastra
(D) Untar Pradesh

120, plateau is sgparated from the
main peninsular platean of India by the wide gap of
Ciare Rajmahal Gap,

(A) Madhya Bharat Pathar
(B) Meghalsya
(C) Chotonagpur

(D) Malwa
121, pass is in Arunachal Pradesh,
(A) Bum La
{B) Jelep La
{C) Nathula
(D Bazl
122 hill range 13 also known as
Sahyadris,

(A) Western Ghats
(B) Eastern Ghats
{C) Vindhayas
(I¥) Satpura

MSC(C)-7/19

123 coastal plain stretches from
Daman 1o Goa.

(A) Kereln
(B] Konkan
(C) Utkal

() Gujrat

124. The Indus originates from the glaciers of
FZe.

(&) Pir Panjal
(B) Kailash
() Zaskar
(D) Saliora

125. Mandakini and Alakananada mest pi

{A) Rudra Prayag
(B) Karan Prayag
{C) Allahabad

(D) Deva Pravag

126. __ is the largest west flowing
river of Peninsular India.

{A) Tapi

(B) Sabarmati

(Ch Marmzda
(D} MNone of the ahove

127, “Sal’ ree is found in
(A} Moist Tropical
By Aline
(C) Dry Tropical
(1} None of the above

forest,
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128. Tropical Moist decidoous is nol found in

(A) West Bengal
(B) Bihar
(C) Gujrat
(D} Orrisa

129, Saline soil is found in
{A) Estuary of Narmada
(B) Malwa Platean
{C) Meghalaya Platean
(D) Rajmahal Hills

130, The famous earthguake of January 26, 2001
took place at :

{A) Uttar Kash

{B) Bhuj (Gujrat)

(C) Andaman and Nicobar
(D) Kinnaur

131, In the year _tsupami occurred

in coastal areas of India.
(A) 2003
(B) 200
(C) 2004
(D 2005

132, IMD has defined severe drought when
deficiency of rainfall exceeds _of
normal rainfall.

(A} 25%
(B} H¥E
(C} S0%
(D) 75%

133, __is not a drought prone area.
{A) Kalahandi (Orrisa)
(B} Purulia (West Bengal)
{C) Nellai (Tamil Nadu)
(D} Assam VYalley (Assam)

134. In 2003, the Indian government enacted &n
act for prevention and mitigation of disaster. It is

known as T
{A) Disaster Prevention Act
(B) Disaster Mitigation Act
{C) Disaster Management Act
(D} None of the above

135, The Mational Fire Service college is located

at
(A} Ahmedabad
(B) Chenna
(C) Nagpur
(D) Allahabad
1. hos one of the four raining

centers of Naticnal Disaster Response Force,
{(A) Delhi
(B) Hyderbad
(C} Bangalore
(D) Bhopal

137. Kannad belong to
Broup.
(A) Auvsiric
(B) Aryan
(C) Sino-Tibetian
(D) Dravidian

language
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138, Sarva Shiksha Abhijan was launched in
the year

(A)

(B)

(C})

{5}

200
2001
2002
2003

139, According 10 the Indus Water Treaty, India
got the exclusive right to use the water of three

rivers and among them one is
(A} JThelom
(B) Ravi
i(C) Chenab
(D) Indus

140, Khar Dung La pass joins
(A) Leh and Chumbi valley
(B) Leh and Siachen glacier
(C) Unarakhand and Tibet
(D) Valley of Kashmir and Kargil

141.
of India,

(A) Eastern Ghats
(B) Nilgiri Hills
(C) Aravalli

(D Zaskar

ix the oldest denudated mountain

141. The coal belt of peninsular India developed
during period.
(A) Tertiary
{B) Pleistocene
(C) Carboniferous
(D) None of the above

MSC(C)-7/19
143, ___ 18 the highest peak of
Maghalaya Platcau.
(A} Norkek
{B) Shilong
(C) Mirik

(D) None of the above

144. According to the Census of India. 2011 the
sex ratio of West Bengal is

iA) Y
(B) 948
(C) 938
{D) 958

145. The HDI of India for the year 2017 is

(A) 0.635
(B) 0.640
(C) 0.645
(D) 0.650

146. is the highest peak of Sahayadris.
{A) Anaimudi

(B) Mahabaleswar

(C) Pushpagiri

(D) Aroya-Konda

147, Dalma Trap is located in
of India.

(A) Bihar

(B) Orrisa

(C) Jharkhand

(I None of the abave
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148. Ganga is an example of Tiver.
(A) Consequent
(B) Subsequent
(C) Antecedent

M None of the above

149,

(A) Malwa plateau

ig the sonrce of river Chiambil

(B} Aravalli range
(C) Vindhyan range

(D) Satpura range

150, Chilkaisanexampleof _____
{A) Crater
(B) Lagoon
(C) Glacial
(I Aeolian

151. Chandra Tal is located n
villey.

{A) Kashmir

(B) Lahaul and Spiti

() Dun

(D Mone of the above

152 crosses the Himalayas and
brings dry and stable weather in winter in India

(A) Easterly Jet Streams

(B) Westerly Jet Streams

(C) Both easterly and westerly jet streams
(D) South Eastern Monsoon wind

153, The western disturbances canse winter
precipitation in north-west regions of Indian
'-.IJhL'{I-]][EIrh‘I'I!. ll li'lrlglﬂﬂ[l."h fr-;il'l'l _
(A) Medilerranean Sen
(B) Armal Sea
(C) Caspian Sea

(D) None of the above

154, According (o climatic
classification, Kerela has
(A)
B
()
T

Koppen's
____climate.
Tropical monsoon

Tropical moist

Tropical Savanna

Cold Humid Winter

155. forecast flood in India.
Indian Meteorological Depiriment

Central Flood
Organization

(A&
(B Forecasting

(Y Central Flood and Disaster Forecasting
Organization

(D MNone of the above

156. Woods of sundan tree is used mainly for
making _

(&) Railway sleepers
(B) Boat meking

(C) Cricket bat

(D% Mone of the ahave

157. Imiroduction of Joint Forsst Management
was an important objective of

(A) National Forest Policy, 1988
(B) Man and Biosphere Program
{C) Wild Life Protection Act, 1971
(D) None of the above
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158. Salem is famous for production of
iron are.

(A) Hematite
(B) Magnetite
(C) Limonite
(D) Siderite

159, India is the second largest producer of
, after Zimbabwe.

(A) Iron
(B) Manganesse
(C) Zinc
(D) Lead

160. Copper is found in large quantity at

(A) Durgapur
(B) Gharsila
(C) Nagpur
(I} Mayurbhanj

161. islhelargesl producerof Mica.
(A} Bihar

(B} Jharkhand
(C) Andhra Pradesh
(D} Madhyva Pradesh

162. Bundelkhand is famous for production of
mineral.

(A) Diamond
(B) Mica

{C) Copper
(D} Iron

MEC(C)-7/19

163. Shivasamudram Pam is constrocted on
MmyeT.

(A} Narmada
(B} Mahanadi
(C) Knshna
D) Kaven

164. Ukaidamison Ukai river which is a tributary
oof river.

{A) NMarmada

iH) Mahanadi

(C) Tapi

(D) Ganga

165. Tilaiya Dam is on
(A} Barakar
(B} Damodar
(C} Konar
(D} None of the above

FIver.

166. Integrated Urban Development Project was
mitiated during five-year plan.

(A) Fourth

(B) Fifth

(C) Sixth

(D) Seventh

167. By amendment constitutional
status was given to the Panchayat system.

(A) Tidth
(B} T3th
(C) T2th
(D) 62th

Please Turn Owver
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168, India and Pakistan have boundary dispute
OVET _ creck.

(A) Sir

(B) Kan

(Cy Kajhar

(I None of the above

169, census year recorded anegative
growth rate of -0.31 in India.
(A) 1931
(B) 1921
(C) 1941
(D) 1911

170. In the year __ the first Census of

India was conducted,
(A) 1911
{B) 1872
(C) 1921
(D) 1891

171. According to the Census of India 201 1, the
child sex-ratio of India is

(A) 926
(B} 914
(C) 941
(D 921

172. is not & SEZ of India.
Falta
Moda

Indore

{A)
(B)
{C)
(v

Surat

A=-20

173. Blue revolution is aimed at increasing the
production of _ :
(A) Milk
(B) Pouliry
(C) Shrimp
(D) Indigo

174. _i5 not a potential area for
generation of geo-thermal energy,

(A) Son Velley

(B) Damodar Valley
(C) Western Ghats
(D) None of the wbove

175 is a tribe of north-east [ndia.
(A) Oraon

{B} Chenchu

(C) Angami

(DY Iruta

176, 15 the main occupation of the
Toda tribe of southern India.
(A) Hunting
(B) Pastoralism
() Fizhing
(D) Agoculoare

177. Lepcha, Assamese, Bhutia are types of
language family,

(A Sinp-Tibetion

(B) Austric
() Dravidian
(D) Indo-Aryan
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178. is & minority group in India
who are followers of Zomastrianism.

(A) Jains
(B) Parsis
(C) Buddhist
{D) Christians

179. Many people of state speaks

Kinnauri,
(A) Jammu and Kashmir
(B) Himachal Pradesh
{C) Unar Pradesh
(D} Uttarakhand

180. According to Census of India, 2011 the
crude birth rate of thecountryis __ per
thousand,

(A) 258
(B) 23-8
(C} 268
(D) 218

181, _  state of India has more females
in number than males with a sex-ratio of 1084/

1000 according to the Census of India, 2011.
(A) Kamnataka
' (B) West Bengal
(C) Eerala
. (D) Orissa

182. state has the highest literacy
rale among the north-gastern states of India.

(A} Mizoram
(B) MNagaland
(Cy Manipur
(D} Tripura
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183. According to the Census Department of
Crovernment of India, 4 class [11 urban place have

a population between
(A) 10,000 w 19,999
(B) 20,000 to 49,999
(C) 50,000 to 99,999
(D) None of the above

1B4. Jawaharlal Nehru Port is situated at abouot
14 kilometers south of city.

{A) Chennai
(B} Mumbai
(C) Goa

(D) Kolkata

185. In the year 1988, India launched the first
remote sensing satellite,

(A) IRE-1A

(B) INSAT-1D

(C) INSAT-1A

(I3} MNone of the above

186. 1§ the largest producer of tea.
iA) West Bengal
(B) Tamil Nadu
(C} Assam
(D} Karnataka

187. Bamboo, rags, rice bran are the main raw

materials of industry.
(A) Chemical
{B) Fertilizer
(£ Cotton
(D) Paper
Please Turn Over
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188. Indiaisthe largest exporter of
iA) Orange
(B) Pear
(C) Cashew nuts
(D Strawberry

189. Sheets, rods, plates, utensils from
are manufactured by mill at Belur
(West Bengal).

(A} Iron and steel
(B} Copper

(C) Bronze

(D) Alumdinium

190, _ _ is the largest producer of
sugarcane in [ndia

(A) Maharastra

(B) Gujrat

(C) Utar Pradesh
(D) Madhva Pradesh

191. Malda district of West Bengal is famous for

(A) Sericulture
{B) Horticuliure
() Apiculbure
(D} Aquaculiure

192. Varanasi 15 an expmple of
City

(A} Defense

(B) Administranye

(L) Port
(D} Eclecelestial

193. The basic objective of i% 1o
provide all-weather connectivity to all villages.
(A) 3GSY
(B) IAY
(C) DPAP
(D) PMGSY

194. Bangladesh access the enclaves in Cooch
Bihar through corridor.

(A) Teen Bigha
(B} Durjesling
(C) Jalpuiguri

(¥ Maone of the above

195. The southern most point of India is
e . located at 65457 N,

(A} Indira Point

(B} Kanniya Komari

(C) Dras

(D} Chennai

196. The Nanonal Air Monitoring Program was
imitiated by

(A} Natonal Dizaster Management
ARENCY

(B} State Pollution Control Board

() Mational Pallution Control Board

D) Indian Meleorological Department



197. Muzaffarnagar in Uttar Pradesh is famous
for production of

(A} Milles
(B} Cotton
(C) Tobacco
(D) Sugarcane

198. The present habitat of tribe is

mainly in the plateau regions of Bihar, Tharkhand,
Orissa and West Bengal.

{(A) Bhils

(B) Nagas

(C) Santhals

(¥ None of the ghove

A-23
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199. India is not the leading producers of

[A)
(B)
(C)
(D}

208, The

(A)
(B)
()
(D)

spices.
Cumin
Cardamom
Ginger
Chilli

longest border of India is with
(4096 kilometers).

Nepal
Bhutan
Afghanistan
Bangladesh
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1. Which state governmenl s Medical & Health
Department has received the WHO s *World No
Tobacco Day Award, 2019°7

(A} Rajasthan
(B} Gujarat

(C} Chattisgarh
(D) West Bengal

2. Who among the following has been
appointed as the Deputy Executive Director of
UN-Women on May 30, 20197

(A) Marayani Shastri
(B} Anita Bhatia
(L) Bimo Jhimgon
(DY) Lakshmi Puri

3. Name the Indian who has been felicitated
with Mexico’s highest civilian wward *Order of the
Aztec Eagle’ in 20197

{(A) Ram Nath Kovind
(B) Pratibha Patil
(C) Pranib Mukherjee
(D) Sonia Gandhi

4. The Elephanta Festival of Antand Culture is
held in which city of India?
{A] MNew Delha
(B) Thimowananthapuram
(C) Jaipur
(D) Mumbai

5. In which city India's first Tree Ambulance
has recently been launched?

{A) Bhopal
(B Chennai
(C) Ahmedabad

(D Mumbai

6. Which of the following banks has launched
the 'Bank on Wheels' service?

{A) State Bank of India
(B) Axix Bank

(C) ICICI Bank

(D} Indian Overseas Bank

7. Which of the following Ministry launched
the Artisan Speak?
tA) Ministry of Calture
(B) Ministry of Tourism
{C) Minstry of Textiles
(D) Ministry of External Affairs

8. Whereis the “Vivek Smarak™ — the Swami
Vivekananda Value Edueation and Coltural Centoe
located?

(A) Telengana
(B) West Bengal
{C) Kamataks
(L) Bihar

9. Which of the Indian Lake possess 200% of
India’s sea-grass distribution?
{A) Chilka Lake
(B} Loktsk Lake
(C} Dal Lake
(D) Mansar Lake

10. In which of the following institutions, the
first time ever in India, voting was held in the
campus of an institution for mentally ill on April 18,
20197

(A} Spandana Instifute of Mental Health
(B} Instimute of Mental Health, Hyderabad
(C}) Institute of Mental Health, Avanavaram
(D) Insttute of Psychairy, Kolkata




11. A book contasining English translation of
the 100 year old classic Punjabi poem about
Jalianwala Bagh massacre, “Khooni Vaishakhi™
has been released in Abu Dhabi. What is the name
of Jaliasnwala Bagh survivor who wrote it after

witnessing first-hand the events of Apnl 13, 19157
(A} Manmohan Singh

(B) Khuswant Singh
(C) Lal Singh Dil
(D)} Manak Singh
12, Inwhichcountry Indsahas rebult Kundeing
Monesiry?
(A) Thailand
(B) Sn Lanka
(C) Nepal
(D} Bhutan
13, Whe has become the hrst Indian woman
scientist 10 have been selected as Fellow of the
Royal Society in the 359 year history of the
prestigious scientific acadeny’
(A) Mangala Narlikar
(B) Gagandecp Kung
{C) Nandini Harinath
(D} Aditi Pant
14. World Health Organization has raised alarm

over a 3 per cent increase in the case of which
disease globally in the first quarter of 2019

compared with last year?
(A) Cancer
{B) Polio
(C) Drabetes
(D) AIDS

15, Defence Rescarch and Development

Organization on April 15, 2019 successfully test
fired Nirbhay, What is Nirbhay?

(A) Pilotless aircraft

(B} Radar

(0 Missile lnuncher vessel
(D) Sub-sonic cruise missile

MSC(C)-8/19

16. Inwhich country the firstever home delivery
drone service has been launced by Google Wing?

(A) Australia
(B) Canada

(C) France

(I South Korea

17. Who has been named as the Wisden
Almanack leading cricketer of the vear 20187
(A&} Jos Bumler

(B} Sam Curren
(C) Vira Kohli
(D Shakib Al Hasan

18. Which country’s army ousted and arrested
president Omar-Al-Bashir on April 11, 20197
(A} Sudan
(B) South Sudan
(C) Somalia
(D) Egypt

19. Who has joined International Monetary
Fund as its chief economist on January 3, 20197

(A) Jayamo Ghosh
(B) Gita Gopinath
{C) Raghuram Rajan
(D) Indira Nooyi

20. Which of the following two countries named
the first and second best performing country after
the Climate Change Performance Index, 20197

{A) Norway and Iceland
(By Sweden and Bhutan
(C) Bhutan and Finland
(D) Sweden and Morocco
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21. Whereis the shoal grassland found in India?
(&Y Western Ghats
(B} Sundarban
(C) Andaman-Nicobar
{D) Himalayas

22. What was the profession Volodymyr
Zelensky before elected as the President of Uk raine?
(A) Singer
{B) Comedian
(C) Doctor
(L) Soldier

23, How many times Sheikh Hasina has been
elected as Prime Minister of Bangludesh?

{A) Dwo Times
{B) Three Times
(C) Four Times

(Y Five Times

24, Which three companies have lsunched the
Ujjwala Sanitary Naphkins?

(A) Indian ©il, Bharat Petroleum and
Hindustan Petroleam
{B) Bharat Petroleum, ONGC and Indian Ol

(0 Imdian Oil, Oil Indin Limited and
Hindustan Petroleum

(D ONGC, Onl India Limited and Bharat
Petroleom

23 What is "Arribada"?
(A) Mass Nesiling of Olive Ridley
{B) Setting up a habitat by Red Panda
{C) Colony formation by Penguin
(D) Mone of the above

A4

26, Binapani Devi was the matriarch of which
community?

{A) Mech
(B) Baurs
(C} Rabha
(D) Matua

27. On which river has the central government
approved ‘Keery Hydro Power Project'?
(&) Mahananda
{(B) Chenab
(C) Teesin
{D) Thelum

28. Which city bagged award for the cleanest

city for third straight year in Swach Survekshan,
20197

(A) Pune
({B) Amuaravati
(C) Indore
{D) Chandigarh

29, India’s first Rajdhani Express tumed 50 on
March 3, 2019. Which was the route of first
Rajdhani Express?

(A} Bombay-New Delhi
{B) Howrah-New Delhi
{C) Madras-New Delhi
(DY Amritsar-New Delhi

M. Which sponts has been included in 2022
Asian Games?
(A) Cricket
(B} Football
(C) Paragliding
(D) Pencak Silat




31. Who named cyclone 'Foni'?
(A) India
(B) Bangladesh
(C) Sni Lanka
(D) Myanmar

32, Inwhich year Satyajit Ray’s first film Pather
Panchali was released?

(A) 1951
(B) 1955
(C) 1958
(D) 1960

33, Inwhich year Howrah Bridge was open for
public?
(A) 194]
(B) 1942
(C) 1943
(D) 1944

34, Which one is the first news paper published
in Bengali language?
(A) Digdarshan
{B) Samachar Darpan
(C) Tattobodhin
(D) Ananda Bazar

35. In which year the Pancely State of Cooch
Behar merged with West Bengal?

(A) 1947
(B) 1948
(C) 1949
(D) 1950

A-5 MSC(C)-8/1%

36. Who was the first Sultan of Bengal?
(A) Saifuddin Hamea Shah
{B) Sikandar Shah
(C) Samsuddin Ilyas Shah
(D) Alibardi Khan

37. Inwhich yearthe Bengal famine happened?
{A) 1ETG

{B) 1936
(C) 1943
(D) 1976

38. Inwhichvear Chandannagar was integrated
into West Bengal?

(A) 1947
(B) 1948
{C) 1950
(D) 1954

39, Who was the first Chief Justice of the
Caleutta High Court?

(A) Sir Rechard Couch
(B) Sir Bames Peacock
(C) Sir George Ranking
(D) Sir Harold Derbyshire

40. What is the total number of seats in West
Bengal Legislative Assembly?

(A) 295
(B) 308
(Cy 435
(D) 543
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41. Which Viceroy of India suggested the
construction of Victiona Memorial in Kolkata?

{A) Lord Cureon
(B} Lord Dalhousie
(C) Lord Ripon
(I} Lord Hardinge

42, Which one is the State Animal of West
Bengal?
[A) Royal Bengal Tiger
{B) Spotted Deer
(C) Fishing Cat
(D} One Horned Rhinoceros

43. The Poona pact was an agreement between
(A) Gandhi and Ambedkar
(B) Nehru and Ambedkar
(C) Nehru and Gandhi
(D) Ambedkar and Malviva

44, In which vear Swami Yivekananda
established Ramaknshna Miszsion
(A) 1892
(B) 1897
(Cy 19032
(D) 1904

45. The Constitueni Assembly of India has
started functicming from

{A) Movember 26, 1946
(B} December 9, 1946
{C) January 26, 1947

(DY Aprl 21, 1947

46. What is the ume difference between India
and London?

(A) 4 Hours 30 Minutes
(B) & Hours

(Cy B Hours 30 Minutes
(D) 12 Hoirs

47. Which one is the world's wettest continent
(A) Asia
{B) Africa
(C) South Amenca
(D} Enrope

48. Who can declare financial emergency in
India?
{A) Governor of RBI
(B) Prime Minister
(C) President
(MY Finance Minister

#49. Which one is the India’s multi-purpose
river valley?
(A) Vakra Nangal
(B} Damodor Valley
(C) Tungabhadra
(D) Maparjuna Sagar

50. Who scripted Gandhagi's  favourite song
“Vaishnav Jan to Tenc Kahiye..."?

(A} Rabindranath Tegore
(B} Premanand

(T} Meers Bai

(D} Chunilal



51, The 2020 Summer Olympic will be held in
(A) Tokyo
(B) London
{C) Athens
(D) Atlanta

§2. Who authored the book “ldentity and
Violence ; The Iusion of Destiny™7

{A) L K. Advani

(B) A.P.J. Abdul Kalam
(C) Amartya Sen

(D) Orphan Pamuk

53, "Playing it my way™ is the sutobiography of
{A) Brian Lara
(B) Virat Kohli
(C) Sachin Tendulkar
(D} Steve Waugh

54, Who Said, “Man is by nature a political
animal"?

(A) Socrates

(B) Aristotle

(C) Plato

() Karl Marx

55, What is the National aquatic animal of
India?
{A) River Dolphin
(B) Green Sea Turtle
(C) Seahorse

(D) Dugong

A-T
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36, How many official languages are there in
UNO?
{A) 3
(B) 4
(C) 5
D) 6

37. Howmany operational commands are there
in Indian Army?
(A) 5
(B) 6
(€ 7
(D) 8

58. What is the currency of Italy?
(A) Lira
(B) Euro
{C) Dollar
(D) Pound

59, What is the currency of Myanmar?
(A) Kyat
(B) Ringgit
(C) Peso
(D) Baht

6. Which is the capital of Bulgaria?
(A} Sofia
(B) Bangui
(C) Rabal
(D) Lome
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61. Shura-e-Milli is the Parliament of which
country’y
(A) Jordan
(B} Iran
{C) Afghanistan
(D) Israel

62. Which one of the following is the highest
military decoration of Germany?

(A) Victory Medal
(B) Iron Cross

(C) Military Cross
(D} Croiv de Guerra

63, Who is the most decorated Olympian?
(A) Usain Baolt
(B) Michael Phelps
{C) Larisa Latnina
(D) Carl Lewis

64. The border line between Pakistan and
Afghanistan is known as

(A} McMohan Line
(B} Radcliff Line
C) Durand Line
(D) Maginot Line

65. The Head Quarters of [LO is located in
(A} Geneva
{B) The Heague
() Mew York
(D) Rome

A-%

66. Black holes were predicted by
(A) Copernicus
{B) Einstein
(C) Rutherford
(D) Satyen Bose

67. Which of the following iz known as the city
of eternal spring?
(A) Rome
(B} Chiites
{C) Lhasa
(1Y) Venice

68. India House is situated in
{A) Delhi
(B) Singapore
(C) Rangoon
(D) London

69. Rohinton Bana Trophy is related 1o
(A} Imter School Hockey Competition
(B) Imer State Polo Championship
{C) Inter-University Cricket Competition
(D} Under 19 Table Tennis Competition

70, Deuce; Booster; Spikers; Servics; Love are
related to

(A} Badminton
(B) Volleyball
{C) Baseball
(D)) Billiards




Tl Who won Man Booker Prize, 20187
{A) Anna Bumns
{B) Daisy Johnson
(C) Rachel Kushner
{0} Richard Powers

72. Who won 68th edition of Miss World
Pageant?
{A) Karen [basco
(B) Manushi Chhillar
(C) Megan Young
(D} Vanessa Ponce

73, Along with Nanaji Deshmukh and Bhupen

Hazarika, who was the recipients of Bharat Ratna
of 20157

(A} Atal Bihari Vajpayee
(B) Manmohan Singh
(C) Pranab Mukherjes
(D} Mone of the above

T4. Rajiv Gandhi Khel Ratna, 2018 was swarded
1o Mirabai Chann for which discipline?

(A) Wrestling
(B) Weightlifting
(C) Boxing

{D) Archery

75. What does "CSIR’ stand for?

(A} Cooncil of Scientific and Industrial
Research

(B} Center for Science and Industrial
Research

(C) Centerfor Share and Investment Ratio

(D) Council for Scientific and
Informanonal Research

A9

MSC(C)-8/19

76. Indira Gandhi Centre for Atomic Research
is located in
{A) Kolkata
(B) Kalpakkam
(C) Mumbai
(D} Hyderabad

T7. Where 18 Vikram Sarabha Space Centre?
(A} Bengaluru
(B} Sribarikota
(C) Baleswar
(D} Thiruvananthapuram

T8, When did West Bengal become o state?
{A) August 15, 1947
(B) August 15, 1948
(C) November 26, 1949
(D) January 26, 1950

9. The opening match of ICC World Cup, 2019
between England and South Africa was held in

{A) Lord's

(B) Owval

(C) Trent Bridge
(D) Cardiff

80, Which is the first plant grown in the moon?
(A) Cotton
(B) Potatoes
(C) Arabidopsis
([¥) Canola
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#1. Habitais resulting from lava flow is an

example of
(A} pAomary SUccession
(B) secondary succession
(L} auingenic SUCCESRION

(D} allogenic succession

B2 Thetollowing organism is anendosymbiont:
(A) Anabaena
(B) Azarobacter
(C) Clostridium
(I Mitrobacter

B3, The following is a sedentary cycle:
(A} Pcycle
(Bl N;cycle
(C) Ccycle
(D O, cycle

84. Flouride in environment primarily comes
from

(A) topaz
(B} apafite
(C}) fucrite

D} phosphorite

85, Theblack foot disease primanily ocours due
o toxicity of

(A) Pluarnide

(B Cadmium
(C) Arsenic

(D) Lead

A-10

86. The fresh water percentage of Earth is
(A) 1%
(B) 2-5%
(L) 2%
Dy 10%

B7. The following is not & macronutrisnt:
(A) Mg
(B) Ca
(C) Fe
(o K

B8. The Disaster Management Act was enacted
in
2000
2003
2005
2010

{A)
(B)
(C)
(D}

89. The operation ‘Surya Hope' is related to
(A) Unarakhand flood
(B) Kerala flood
(C) Kashnur flood
(D) Assam flood

90, Loss of water is maximum from
(A) leat surface
{B) =o0il surface
{C) root
(D) stem surface




91. The maximum width of ropopause is
(A) 10 Km
(B) 15 Km
(C) 20 Km
(D) 25 Em

92. The Thermosphere starts from Earth's
surface at a distance of

(A) BOKm
(B) 85 Km
(C) 100 Km
(D) 125 Km

93, The following bacteria may be used to
mitigate oil spill:
(A) Bacillus
(B) Prewdomonas
(C) E coli
(D) NMitrobacier

84, The following gas may be involved in stone
COnCer:

{A) N,

(B) SO,
() €O,
(D} HS

95. DDT does not contain
{A) C
{B) H
(C) P
{m

A-11
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96. The following name is associated with rain
water harvesting:

(A) Rajendra Singh
(B} Baba Amte
[C) 5. C. Mair

(D) Medha Patkar

97. The following virus is water bome;
{A) Hepatitis A
{(B) Hepatitis B
{C) Hepatitis C
(D) Hepatitis E

98. The pH for drinking water should be between
(A) 5-6
(B) 6-6:5
(C) 65-7-5
(D) 6-9

99, Silent Vallcy became national park in the
VEar
(A) 1980
(B) 1984
(C) 1988
() 1990

100. The temperature of water for measuring
BOD should be maintained at

(A) 20°C
(B} 30°C
(C) 35°C
(D) 40°C
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MSC(C)-8/19

101. Roof wp water harvesting is highest in
(A) China
(8) Brazil
(C) Ghana
(D) India

102. The noise level during plane take off is
proind

(A) 100 dB
(B) 130dB
(C) 200 dB
(D) 250 dB

103. The Bindiversity Act was passed in
(A)
(B 2
(C)
(D

104, Bengal Smoke Nuisance Actcame up for
the first time in

(A 1500
(B) 1903
(C) 1950
(D) 1978

105, The green bench in Kolkata High Court
wias established in

(A) 1990
(B) 1996
(C) 1997
(D) 1998

A-12

106. The unit of radicactivity is
[A) Co
iB) Ci
(C) Cr
(D) Cq

107. The following waste comes under red
category

(A metal

(B) drug

(C) oil waste
(D} food waste

108. The ideal iemperature for composting is
(A) 30°C = 40°C
(B) 40°C - 50°C
(C) S0°C - 60°C
(B &0°C = TPC

109, The disinfection of drinking water by
municipalities is mostly by

(A) Chlonnation

(B) Bromination

(C} Boiling

(D) UV radiation

110, The temporary bardness of water is caused
by

(A) Oxides

(B) Bicarbonates

(C) Chlorides

(D) Sulphates
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111. The activated sludge meatment is carmed
out by
(A high temperature
(B} acidification
(C) microbes
(D} mossture

112. The country where paper recycling was
initigted in the world is

iA) UK

(B) USA

(C) Germany

(D) France

113. Theelectricarc furmace is used forrecyeling
of

(A) Cu

(B) Zn

{C) Fe

(D) Cr

114. CITES became effective from the year
{A) 1970
(B) 1975
(C) 1980
(D) 1985

115. Mulching prevents the loss of
(A) microbes
(B} moasiire
(C) mineral
(D) organic matter

MSCiC)-8/19

116. Indian Board of Wildlife was established in
(A) 1932
(B) 1952
(C) 1962
oy 1972

117. Bhagabatpur project is for breeding
(&) Marsh Crocodile
{B) Tigers
(C) Black buck
(D) Dholes

118. Maximum energy consumption in Asia is
by

(A) India

(B) China

{(C) Jupan

(D) Pakistan

119. The golden rice contains
(A) Vitamin A
(B} Vitamin C
(C) Vitamin E
(D} Vitamin D

120, The Bteotion is atransgenic crop with gene
transfer from

{A) virus

(B) bacteria

(C) fungi

(D) algae
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121. In radiactive decay process, the negatively
charged emitied [ particles are

(A) the electrons present inside the
nuclens.

(B) the electrons prodoced as a result of
the decay of neutrons inside the
nucleus.

() the electrons produced as a result of
collisions between atoms.

(D) MNone of the abave

122. In gamma rey emission from a nucleus
[A)
(B)
(C)

only proton number changes,
only neutron nember changes.

there isnochange in the proton number

and meutron number,
(D) Both the proton number and the

neutron number change.

123. Fora metallic wine, the ratio [v=applied
i

potential difference and | = current Mowing] is
(A) independent of temperature.
(B)
{C)
(D)

increases ay the temperature rises
decreases a8 the lemperature rises,

decreases as the
temperkture rises depending upon the

fredal,

Increases or

124. The potential energy of a molecule on the
surface of a liquid compared 10 one inside the
liguid is

(A) zero

(H) lesser
(C) equal
(D} greater

125, 5i0); is reacted with Sodium Carbonate,
What 15 the gas liberated?

(A) OOy
(B) CO
(C) O
(D) ﬂl_:

A-l4

126, Oxidation state of Oxygen in Fs0 is
LA} =1
(B) +I
() +2

(D) -

-

-

127. Which of the following does not have
coordinate bond?

(A) 50

(B) HNCkH

(C) HNO;

(D) Ha80,

128. The homologue of ethyne is
{A) CiH;s
By CaHg
(C) CiHs

(1) CaHs

129. Which 1s used in alcobolic beverages?
(A) Ethanol
(B} Methanol
(C} Phemol
(2 Glycernol

130, Which of the following is the largest gland
in an adult man?

A} Thymus
{8} Liver

(C) Thyroid
() Pancreas



131. Which is correctly matched?
(A} Apiculture - Honey bee
(B} Pisciculture - Silk moth
{(C) Sericulture — Fish
(D) Aquaculture - Mosguito

132. In blood, CO: is transported majorly as
{A) CO:as such
(B) Sodium Carbonate
(C) Bicarbonate
(D) Carboxy haemoglobin

133, Kupffer cells are present in
(A) Pancreas
1B) Liver
(C) Thyroid
(D) Small intestine

134, The vitamin which is essential for blood
clotting is
{A) vitamin— A
{B) vitamin- B
(C) witamin - C
(D) witamin - K

135, Which of the following is not vestigial in
fran T

(A} Tail vertebrae

(B} MNails

{C) Nictitating membrane
(D) Vermiform appendix

A-15
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136. Indusium is found in
(A) algae
{B) miss
(C) fems
(D) cycas

137. In plants, water supply is due o
{A) osmosis
(B) imbibition
(C) guntation
(B adhesion force

138. In which form does the food ransported in
plants?

(A) Sucrose

(B) Fructose

(0 Glugoss

(D) Lactose

139, Which of the following electromagnetic
waves have the smallest wavelength?

(A) Infrared rays
(B) UV rays

(C) X-rays

(D} y-rays

140, Which of the following configurations
corresponds o element of highest jonisation
energy T

(A} 182 28!

(B) 164 2¢°, 2p’

(C) 1s°, 2¢°, 2p

(D) 152, 247, 2%, 3s'

Please Turn Over



MSC(C)-8/19

I41. The general molecular formula for
disaccharide 15
(A} CygHypOya
(B) CjHaa0y,
(L) CyaHagOyg
(D) CiHz0g

142, Proteins are composed of
LA vitamins
(B carbohydrates
() o-amino acids

(D) mineral salis

143, An ecosystem consists of
(A) populition.
(B
<)

@ biotic commumiy,

a population and its non-living
glements

(L} abiotic community and its non-living
elements.

144, Decomposers which specifically act on the
fecal matter of other organisms are called
{A) Coprophagic
(B} Héterophagic
(T} Allophagic
(D) Paraphagic

145. Major cause of Ozone depletion is due to
which chemical?

(A) Chlora Floorn Carbons
(B) Polyphenols
(C) Dioxing

A-16

146. What is Incineratar?
(A} Furnace used for buming solid waste
(B) Furnaceused fortreating liquid waste
{C) Both (A)and (B)
(1)) Mone of the above

147, What is Plankton?
{A) Large plants in waler.
(B) Microscopic floating organisms-
Plants and animals.
{C) Bottom dwelling squatic crganisms
(D) None of the above

148, Biotic environment includes
[A) Consuiners
(B) Decomposers
(C) Producers

(D) All of the above

149. A genetically engineered form of brinjal,
known as the Bi-brinjal, has been developed, the
ohjective of this is

{A) o improve its taste and nutritive
qualities.

(B) 10 make it pest-resistant,

(C} to make it drought-resistant.

(¥ o make its shelf-life longer,

150. The function of heavy water in & nuclear
FEBCIOr 18 T0

(A} cool down the reactor,
(B) stop the nuclear reaction.
{C) slow down the speed of neutrons.

(I} Ravon

(D) increase the speed of nentrons.




151, Which of the following vitamin is water
soluble as well as an antioxidam?

(A) Vitamin-B,
{B) Vilemin-A
(C) Vitamin-D
(D) Vitamin-C

152, *Adaptation” of eyes in dark due o
(A} depletion of vision pigment in rods
(B) depletion of vision pigment in cones
(C) repletion of vision pigment in rods
(D) repletion of vision pigment in cones

153. A man of blood group-A marries a woman
of blood group-AB, which type of progeny would
indicate that man is heterozygous?

(A) O
(B) B
(C) A
(D) AB

154. The permanecnt decrease in population
number occurs due to

(A) Migration

(B) Natality

(C) Emigration

(D) Maortality

155, Aspirin is alan
{A) antibiotic
(B) antiseptic
(C} antipyretic
(D) None of the above
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156, Abody is floating in a liguid at rest. Incorrect
statement about situation oplions:
(A} Buoyancy is equal to weight of body
(B) Weight of liquid displaced by body is
equal to buovancy.
(C) Foree applied by body on liguid s
buoyancy dowmward.
(D) Weightwill be greater than buoyancy,
157. An electric bulb marked as 50 W-200 V is
connected across a 100 V supply. The present
power of the bulb is
(A) 3T5W
(B) 25 W
(C) 125W
(D) 10W
158, Water is flowing through & very namow
tube. The velocity of water below which the flow
rermains a streamline flow is known as
(A) relative velocity
(B) terminal velocity
(C) cntical velocity
(D) paricle velocity

159, A bullet on penetrating 30 cm into its target
loses it's velocity by 50%. What edditional distance
will it penetrate into the target before it comes o
rest?

(A) 3 em
(B)y 20 cm
(Cy 10¢cm

(D) Sem

160. Which one of the following is wrong about
molecularity of a reaction?

{A) Itmay be whole number or fractional,

{B) It is calculated from reaction
mechanism,

(C) It is the number of molecules of the
reactants taking part in & single step
chemical réaction.

(D) It is always equal to the order of
elementary reaction.
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161. In which of the following pairs, the two
physical quantities have different dimensions?

(A) Planck's constant and angular
momentum

(B) Impulse and linear momenturn

() Moment of inertia and moment of &
force

(D) Energy and torque

162. In which of the following phenomena, the
heat waves travel along straight lines with the
spead of light?

(A) Thermal conduction
{B) Forced convection
(C) Matural convection

(I Thermial radiation

163. For the radioactive nuciei that underpgo
either & or B decay, which one of the following
cannol occur?

(A} Isobarof onginal nucleus is produced.

(B} lsotope of the original nucleus is
produced,

(C) Nuclei with higher atomic number
than that of the original nucleus is
produced.

(D} Nuclei with lower atomic aumber than
that of the original nuclens is produced.

164. If the bandgap between valence band and
conduction band in a maeterial i5 5.0 eV, then the
material is

(A) semiconductor
(B} good conduoctor
(C) super conductor
(D) insulator

165. During the emission of a positron from a
nuclews, the mass number of the daughter element
remains the same but the atomic number

(A) is decreased by 1 unit
(B} is decreased by 2 units
(C} is increased by 1 amit
{D) remains unchanged
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166. The emission spectrum of hydrogen
discovered first and the region of the
clectromagnetic spectrum in which it belongs,
respectively are

iA) Lyman, ultraviolet
(B} Lyman, visible
(C) Balmer, ultraviolet
(DY Balmer, vizihla

167. WAN hardwaere includes
(A) Multiplexors and routers
(B) EDF
(C) Bridger and modems
(¥} Removahle disc

168. Which one is the first search engine in
internet?

(A) Google
{B} Archie
(C) Altavista
(D) WAIS

169. Which one programming language is
exclusively used for artificial intelligence?

(A} C

(B} Jawva

(C) JZEE

(I¥) Prolog

170. A dual layer Blue-ray disc can store data
Upto
(A) 20GB
(B} 30GHE
(C) 40 GB
(D) 50GB




.

171. The device used by Banks to automatically
read those special numbers on the hottom of the

cheques is
(A) MICR
(B) OMR
(C) UPC
(D) UDIC

172, What is the wavelength of Super High
Frequency (SHF) especially used in radar and
gatellite communication?

[A) 1 m=10m
(B) 1cm-—10cm
(C) 10em=1m
(D) ]l cm~- 1| em

173. Which of these are used to measure optical
activity?

(A} Polarimeter

(HB) Planometer

{C) Psychrometer

(D) Photometer

174. Whodescribed the structure of DN A double
helix?

(A) Peer Mitchell

(B) Andre Jagendorf

(C)y Ermest Unbe

(D) Watson and Crick

175. Protein lolding is a process in which a

polypeptide folds into
(A} 2-D structure
(B)y Globular form
(C} 3-D structure
(D) Linear form
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176. Which of them contains all the information
required o fold the polypeptide chain in its 3-D
structure?

(A) DNA sequences

(B) RNA

{C) Histone protein

(X1 Amino acid sequeences

177. Name the RNA molecules which is used 1o
carry genetic information copied from DNA?
(A} tRNA
(B) mRNA
(C) rRNA
(D) snRNA

178. Mame the disease caused by the deficiency
of MNiacin.
(A) Pellagra
(B) Rickets
(C) Scurvy

(D) Pernicious anemin

179. Which of the following vitamin serves as &
hormong precursor?
(A} Vitarmin = C
(B} Vitamin — A
C) Vitamin - K
(D) Vitamin - D

180, Which of the foliowing is not a component
of the nuclens?

(A Chromosome
(B) Nucleolus

(O Cytoplasm

(D) Nuclear envelope
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181. The valoe of the compressibility of an ideal
fluid is
(A) Zero
(B) umity
(C) infinity
(D} more than that of a real fluid

182, In clectromagnetic theory, continuity
equation relates

(A) volume conservation
(B) mass conservation
() charge conseérvation

(D) energy conservation

183, Whichis the cheapest device for measuring
Mow/discharge rate?

(A) Venturimeter
(B) Pitot tube

(Cy Orificemneter

(D} Mone of the above

184. Data transmitted for o given amount of time
iscalled .

(A) Noise
{(B) Power
(L} Preguency
(D) Bandwidth

185. In TV transmission, picture signal is
_ modulated.

(A} DSB-SC
(B} V5B
(C) S5B-5C
(¥ Pulse
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186. Which is the most abundant greeahouse
gas in the aimosphere?

(A) Carbon dioxide

(B} Water vapour

(C) Methane

(D) Nitrogen

187. Which of the following is the largest sink
for carbon dioxide pas?

(A} Forests

(B) Oceans

{C) Ice sheets

{0 Crrasslands

188, Which of the following is a liquid form of
aerosol T

(4) Fume
(B) Dust
(C) MMist
(D) Smoke

189, X-ray films are a source of which of the
following gas?

(A) 8Oy
By COy
(C) NOy
(D) 503

199. Below, which of the following pH in rain
regarded as ‘acid rain'?

(A) 7

(B) 7.3

(C) 36

(D) &




191. Which of the following pollutant is the
major contributor to photochemical smog?

(A) Peroxynitrates

(B) Hydroperoxides

(C) Nitrogen dioxide

(D) Ozone

192. What is the primary standard level for
earbon monoxide for assuring air quality?

(A) 10 ppm
(B) 90 ppm
(C} 1 ppm
(D) 9 ppm

193, Which is the most abundant hydrocarbon in
the atmosphere?

(A] Methane

(B) Carbonyl sulphide
(C) Ethane

(D) None of the above

194. What is the shape of Earth’s orbit?
{A} Ellipse with high eccentricity
(B) Ellipse with low eccentricity
(C) Circle
{D} None of the above

195, The solar sunspot cycle is
(A) 3 years
(B) 7 years
(C) 11 years
(D) 14 years
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196. What property of Earth protects us from
harmful radiation from the Sun?
{A) Trees
(B) Atmosphers
{C) T0% water
(DY} Earth's motion around the Sun

197. What is the main energy generation process
in the Sun?

(A) MNuclear fission

(B) Muclear radioactive decay
(C) Gravitational energy

(D) Muclear fusion

198, Formation of stars begin from the following
w0 Eases:
(A) Hydrogen and Nitrogen
(B) Nitrogen and Oxygen
(C) Omygen and Hydrogen
(D) Hydrogen and Helium

199, Asteroid belt is situated between the orbit
of

(A) Mercury and ¥enus
{B) Mars and Jupiter
{C) Jupiter and Saturn
(D) Uranus and Mepune

200, India’s navigational satellite system is
known as

(A) GPS

(B) GLONASS
{C) Beildou
(D} IRNSS
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L. "Preamble of our Constitution is of extreme
impomance and the Constitution should be read
and interpreted in the light of the grand and noble
vision expressed in the Preamble.” Justice Sikri
expressed the above opinion in the case of

(A) In re Kerala Education Bill

(B) AK. Gopalan v. State of Madras

(C) In re Berubari Union

(D) Keshavananda Bharti v, State of
Kerala

2. The Constitution of India has borrowed its
federal scheme of “Union of States' from which
cotntry?

(A United States of America
(B} Canada
(C) Ireland
(I Russia

3. Which of the following Articles describe
about the person voluntarily acquiring citizenship
of a foreign state not to be citizens?

{A) Article §
(B} Aricle &
(CY Anticle 7
(D) Article 8

4. For the purpose of Part Il of the
Comstitution, which of the following are not State?
(A) Industrial and Financial Corporation
(B) Kerala Legislative Assembly
(C) National Council of Edvcational
Research and Training
(D) Ol and Matural Gas Commission

5. In which of the following cases did the
Supreme Court hold that an amendment of the
Constitution under Article 368 was ‘law” within
the meaning of Article 137

(A} Shankari Prasad v. Union of India

(B} Sajjan Singh v. State of Rajasthan

(€} Golaknath v. State of Punjab

(D) Keshavansnda Bharti v. State of
Kerala

6. Amicle 14 guarantees equality before law
and equal protection of laws to
(A) all persons living within the termitory
of India
(B) all citizens living in Indis
(C) all persons domiciled in India
(D} all persons natural as well as artificial

7. In which of the following cases was it
ebserved that Articles 14, F9and 21 are not mumally

exclusive and they jointly aim at reasonableness
and fairness?

(A} Golaknath v, State of Punjab

(B) Jagannath v. Union of India

{C) Maneka Gandhi v. Union of India
(D) Ram Swarup v. Delhi Administration

8. Untouchability is abolished and its practice
15 punishiable according io

(A) Article 15
(B) Arnticle 16
(C) Amicle 17
(D) Article 18

9. On which one of the following freedoms
can reasonable restrictions be imposed on the
ground of security of the State?

{A) dpeech and expression
(B) Peaceful assembly
(C} Association or Union
(D) Movement

10. Right to freedom of religion cannot be
restricted on the ground of

(A} Health

(B) Morality

(C) Public order
(D) Security of State




11 Petitions tothe Supreme Court under Article 32
are subject to the rule of Res judicata except
{A) Certioran
(B} Habeas corpus
{C) Prohibition
(DY Quo warranio

11. The fundamental rights under Articles 12-35
{A) are absolutely flexible
{B) can be amended
() not justiciahle
(D) cannot be amended

13, The right to property was dropped from the
list of fundamental rights by the

(A} 24th Amendment
(B) 42nd Amendment
{C) 44th Amendment
(D)} None of the above

14. Inwhich of the following cases the doctrine
against arbitratiness was incorporated into equality
before law by Justice Bhagwati*

{A) Air India v. Nargesh Mirza

(B) D K. Bakshi v. Union of India

(C) E.P.RRoyappa v, Stste of Tamil Nadu
(DY) Pradeep Jain v. Union of India

15. For the first ume, which Constitutional
Amendment made it clear that “State” in clauses (a)
to (e} of Amicle 3 of the Constitution includes
‘Union Terrtones'T

(A) 17th
{B) 18th
() 19th
(D) 20th

MSCIC)-%19

16, “Excessive reservation would be fraud on
the Constitution of India™ was observed by the
Supreme Court in

{A) Ajit Singh v. State of Punjab

(B) Balaji v. State of Mysore

(C) Devdasan v. Union of India

(D} Indira Sawhney v. Union of India

17. When a Court declares certain provisions of
an Act invalid, it does not affect the validity of the
entire Act, according to

(A) Doctrine of eclipse

(B) Doctrine of prospective overruling
{C) Doctrine of severability

(D} MNone of the above

18. Under the Indian Constitution, which one
of the following is not a specific ground on which
the State can place restrictions on freedom of
religion?

{A) Health

(B Morality
(C} Public order
(D} Social justice

19. Article 23 of the Constitution does not
prohibit
(A) beggary
(B) compulsory service for public
PRIpoves
(C) forced labour
(D) wraffic in human beings

20, A citizen of India, who holds any office of
profit or trust under the State, cannot accept any
title from any foreign State without the consent of
the .

(A Council of Ministers
(B} Speaker of Lok Sabha
(C) Prime Minister

(D) President
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Z1. The framers of the Constitution bormowed
the concept of Directive Principles from
(A) Government of India Act, 1935
(B} Constitution of Ireland
(C) Constitution of Switzerland
(D) Constiutionof United States of America

11, Fundamental Duties are enshrined in
(A} Part IV, Article 51
(B) Part IVA, Article 51
(C) Part IV, Article 514
(D) Part IVA, Article 514

23, According to the B6th Constitutional
Amendment, 2002, the State shall endeavour 1o
provide early childhood care and education for all
children until they complete

{A) age of 3 years
(B) age of 6 vears
(C) age of 7 years

(D) age of 12 years

24. Inthe contextof qualifications for contesting
Presidential elections in India, which of the
following statements is incorrect?

{A) He should be a citizen of India.
{B) He should not hold office of profit,

{C) He should be gualified to be elected to
the House of the People.

(D) He should be aged 30.

25, The ex-officio Chairman of the Council of
States is

{A) the President of India

(B) the Vice-President of India .

(L) e Speaker of the House of the People
(D) None of the above

A-4

26. The Executive Power of the State is vested
with
(A) People of the State
(B} Chief Minister of the State
(C) Governor of the State
(L2} State Legislature

27. Inthe event of the occurrence of vacancies
in the offices of both, the President and
Vice-President of India, who among the following
shall discharge the functions of the President till
few President is elected?

(&) Chief Justice of India
(B} Leader of the majority party in the
Parliament

(') Semior-most amongst the Governors
of Statey

(D) Speaker of the Lok Sabha

28. The power of the President of India to issue
an ordinance is a

[A] constilusnt power
(B execulive power
(C) judicial power

(D) legislative power

9. Any charge for impeachment of the
President may be prefemed

(A) only in the Council of Stutes

(B) only in the House of the People

{(C) in cither House of the Parliament
(D} only in joint session of the Parliament

The Governor can be removed from the
office

(A} by the President at his pleasure.
(B) by impeachment in Parliament.
(C) on the advice of the Chief Minister.

([¥) on a resolution passed by two-third
majority in the State Legislative
Assgmbly,




31. The salary and allowances of the Governor
are charged to

(A} Consolidated Fund of India
(B} Contingency Fund of India
(C} Consolidated Fund of the State
() (A} and (C) in equal proportion

32, Who among the following 1= competent 1o
seek the advisory opinion of the Supreme Court of
India?

{A) The President of India

(B} The Governor of a State
{C) The Prime Minister of India
(I All of the above

33, Rajyn Sabha has a term of
(A)
{B)
|8
(D)

five years

BiX Years

1En YEars

it is a permanent body in which
one-third of the members retire after
every second year

34, The Parliament of India consists of
(A) Lok Sabha and Rajya Sabha
(B) Lok Sabha and Vidhan Sabha
{C) Lok Sabha, Rajya Sabha and the
President
(D) Lok Sabha, Rajya Sabhaandthe Prime
Minister

35. Rajya Sabha can withhold Money Bills for
a period of
(A) fourtesn davs
(B) one month
{C) three months
(L) six months

A-5
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36. Articles 155 and 156 of the Constitution
deal with
(A) Electon Commussion
(B) Inter-State Commerce Commission
(C) Legislative Councils

(DY) President’'s power to appmnt and
clismiss Governor

37. The Council of Ministers at the Union
remains inoffice aslong as it enjoys the confidence
of

(A) Lok Sabha
{B) Parliament
(C) President
(D) Prime Minisier

38. The President nominates
Anglo-Indian members to the Lok Sabha.

(A) 1
(B) 2
(C) §
(D) 7

39. Thequorum requirement inthe Rajya Sabha
is
(A) 25
(B) 50
(C) 100
D) 126

40. Which of these Houses is presided over by
a non-Member?

(A) Lok Sabha

(B) Rajya Sabha
(C) Vidhan Sabha
(D All of the above
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41. A personcanbe a member of the Council of
Ministers without being a Member of Parliament
for the meaximum period of

(A) one month
(B) three months
{C) six months

(D} one year

42, The Legislative Council in & State can be
abolished by the Partinment on the recommendation

of
(A} the State Legislative Assembly
(B} the Governor
(C} the President
i} None of the above

43. Decisions regarding disqualification of
members of Lok Sabha are taken by the

(A) Parliamentary Secretary

(B} Minister for Parliamentary Affairs
{C) Prime Ministes

(1)) Speaker

44. On receipt of a Constitution Amendment
Bill, having been passed by both Houses of the
Parliiment, the President

(A} may give his assent.
(B} may withhold his assent.

(C) mavreturn the Bill for reconsideration.
(D) shall give his assent.

45. Under Article 321 of the Constitution, the
power to extend functions of the Union Public
Service Commission has been vested in the

(A} Chatrman of the Commizsion
(B) Ministry of Home Affairs
(C) Parlisment

(I} Presideni
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46. Any sum required to satisfy any judzment,
decree or award of any court or arbitral tribunal
shall be charged on

(A) Consolidated Fund of India

{(B) Fund of Ministry of Law & Justice
(C) Fund of Ministry of Home Affairs
() Prime Minister's Relief Fund

47. Who has the power todissolve the House of
the People?

(A) Spenker

(B) Prime Minister

(C) President

(D) Council of Ministers

48. What can be the maximum interval betwasn
two sessions of each House of the Parligment?

(A} Three months
(B} Six months
(C) Nine months
(1Y) One year

49. Which provision of the Constitution gives
the Governor of a State power to grant pardon in
certain cases”?

(A) Article 151
(B) Article 155
(C) Anicle 161
(D} Aricle 165

50. Which provision of the Constitution
provides for the adjudication of disputes relating
1o waters of inter-State rivers?

(A} Artcle 258
{B) Article 260
(C) Anicle 262
(D) Artcle 264




51, "Docinine of pleasure’ was introduced in
{A) Article 310
{B) Article 312
{C) Article 317
(D} Amicle 318

32, Dmsputes between States in India comes o
the Supreme Court under its
{A) advisory jurisdiction
iB) appellate jurisdiction
(C) original jurisdiction
(D) Noene of the above

5). Who among the following can establish
additional courts for better administration of any
existing law with respect o a matter concerned in
the Union List?

(A) Chief Justice of India

(B) Concemned State Legislature

i) High Court of the concernad Siate
(D) Parliament

54, The doctrine of prospective overruling was
first evolved by Justice Sobba Rao in

{A) Golaknath v. State of Punjab

(B) Keshavananda Bharti v, State of
kerala

(C) Sajjan Singh v, State of Rajasthan
(D) Shankari Prasad v. Union of India

§5. A retired judge of a High Count cannot
practise
(A} inany High Court in India
(B} in the High Court from where he has
retired
(C) in the Supreme Court
(D) All of the above
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56, In which of the following cases has the
Supreme Court ruled that the reasons have 1o be
communicated to the Legisiature by the
Government if the advice of the Public Service
Commission has not been accepted?

{A) Asha Kaul v, State of Jammno &
Kashmir

(B} H. Mukherjee v. Union of India

(C) Jai Shankar Prasad v. State of Bihar

(D} Jagtar Singh v. Director, Central
Bureau of Investigation

57. The jurisdiction of the Supreme Court may
be enlarged by
i{A) the Parlinment by law
(B} the Parliament by resolution
(C) the President

(D) the President in consultation with
Chaef Justice of India

58. Which Aricle lays down that the laws
declared by the Supreme Court would be binding
on all Courts in India?

(A) Amicle 13]
(B} Article 141
iC) Aricle 142
(D) Article 143

59, Article 227 of the Indian Constitution deals
with
{A) High Count’'s powerof superinlendence
(B} judicial review
(C) powers of the Speaker
D) election of the Vice President

60, The salaries of the Judges of the Supreme
Court of India
{A) are fixed by the President of India.
{B) can never be reduced under any
circumstances.

(C) can be reduced during their term of
office.

(D) cannot be reduced during the term of
their office except during financial

EMEergency.
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61, Dispotes between the Government of India
and one or more States can be heard by the Supreme
Court of India under its

(A} original jurisdiction
(B) sppellate jurisdiction
(C} wmit junsdiction

D) advisory jurisdiction

62, “What cannot be done directly cannot be
done indirectly”™. This statement epilomizes the
doctrine of

(A) ancillary powers

iB) colourable legislation
(L) imphied powers

(I¥) pith and substance

63, Which of the following provisions in
Part Il of the Constitition autematically becomes
suspended on proclamation of emergency?

(A) Article 14
(B) Article 19
(C) Article 21
(D) Article 32

64. A legislation enacted by & State Legislature
falls in the category of legislation.
LA) aulonomous
(B delegaied
{C) subordinate

(D) supreme

65. Which of the following is not true?

(A) Parliament has exclusive power to
make law on @ny matter in the Union
List

(B) Parliament and State Legislatures have
povwer 10 make law on any matier in
the Concurrent List.

(C) Incerlain exceptional circumstances,
atate Legislaures can make law on
the subject given in the Union List,

(D Parliament can make laws on subjects
in the State List in certain
circumstances.

66. Both Parliament and State Legislatures can
legislate on

{A) criminal law and procedure
(B} economic and social planning
(C) marriage, contracts and torts
(C} All of the above

67. The Union Government can assign any
function to the States

(A) on theé recommendation of the
Parliament.

(B) on the directive of the President.

(C) o its own discretion,

(D} with the consent of the concerned
Stte Crovermment

68. The Constitutional provision relevant for
solving questions of repognancy between a Central
Law and a State Law is found in

(A) Article 156
(B) Anicle 254
(C} Article 300
(D) Entry 42, List [T

63, The Constitution reserves the residuary
powers in the
{A) President
(B} Parliament
(C) Union
(D} States

70. Achange indistribation of powers between
the Centre and the States can be done by

(A} the Union Government
(B} the States by themselves
(C) amending the Constitution
(DY) None of the above

71. Which one of the following is no longer
considered an adequate ground for the issue of
Proclamation of Emergency?

(A) Armmed rebellion

(B) External aggression
{C) Inemnal disturbance
(D) War




72, Judicial review of proclamation under
Article 356 would lie on any one of the followimng
Erounds:

(A} The proclamation has been made upon
the considerstion which is extransous
or irrelevant.

(B) Exercise of the power under Article 356
is mala fide.

(C) A statwtory order which lacks bhona
fide characteristics.

(D) All of the above

73. Finance Commission consists of
{A) Chairman and three other members
(B} Chuairman and four other members
{C) Four whole time members
(I Five members

74. The Parliament has the power 1o legislate
on the subjects of all three Lists in respect of
(A} Backward areas
(B) Hall areas
(C) Schedoled areas
(D) Union Territones

75. A resolution ratfying a Proclamation of
Emergency requires to be passed

iA) by either House of Parlinment.

iB) by Lok Sabha.

{C) by both Houses of Parliament in a
Joint sifting.

(D) by each House of Parliament in
separate sittings with majority of total
membership of each House and by
majority of net less than 23rd of
members present and voting,

T, A Constitutional Amendment shall also be
ratified by Legislatures of not less than one-half of
the States by resolution if it is meant io make any
change in

{A) Fundamental Bights
iB) Directive Principles
(C) Pundamental Dutics
D) Special Provisions
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T7. Which of the following Amendments o the
Constitwtion inserted the words “Mothing in Article 13
shall apply to any amendment made under this
Article™ in Article 3687

(A 22nd Amendment
(B) 24th Amendment
{C) 42nd Amendment
(D) 44th Amendment

78. When the name of a Staie is changed or a
new State is created, the Constitution is reguired 1o
be amended by the Parliament by o

(A) simple majority as required under
Articles 107 and 108,

{B) majority of total members of both the
Houses under Amicle 368.

{C) special majority under Article 368,

(D) special majority after obtaining the
opinion of the concerned State
Legislature under Article 3,

79. The 42nd Constitutional Amendment did
o

{A) add the words ‘socialist’, secular and
‘integrity'to the Preamble.

(B} add fundamental duties.

(C) deletetheright to property clause from
Article 19,

(D) amend Article 353 relating o
Proclamation of Emergency.

80. Which of the following Constitutional
Amendments was enacted to deal with issues of

national integration in the 1960s, enabling the
State o ampose by law reasonable resirictions on
the exercise of the fundamental right to freedom
guaranteed in Article 19 in the interests of the
sovereignly and integrity of India?

(A) 15th Amendment

(B) lboth Amendment

(C) 17ih Armendmient

(D) Siate was never given such power
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81. Whichofthe following Amendments added
anti-defection provisions in the Constitution?
(A) 41st Amendment
(B) 42nd Amendment
() 43cd Amendment
(D) adh Amendment

82. Which of the following were not inserted in
Part IV of the Constitution by the 42ad
Amendment? i

(A) Free legal aid to economically
Backward classes.

(B) Participation of workers in the
management of organization engaged
in any industry.

(C) Protection and improvement of
environment.

([¥) Organisation of Village Panchayats.

83, National Capital Temitory of Delhi was
constituted by

(A) Ordinance promulgated by the
Liewtenant Govemaor.

(B) Ordinance promulgated by the
President,

{C) 7list Amendment.

(D) 69th Amendment,

B4, The Union Public Service Commission has
advisory power in the following matters:
(A) Methods of recruitment to civil service
(B) Disciplinary matters affecting a public
servant
(Cy Both of the above
(D) None of the abowve

85, The term of the members of a State Public
Service Commission i of

{A) 5 years

(B) G years

(C) 10 years
(D} None of the above

A-T

B6. The tenure of Gram Panchayat and
MNagarpalika shall be for

[A) 3 years
{B) 4 years
(C) 5 years, unless dissolved earlier

(D) co-extensive with the term of
legislative assembly

87. Election to the Gram Panchayats are

[A) 1o be direct on the baszis of adult
franchise

(B} by indirect method
(C) by Legislature of the States
(D) None of the abave

88. A Union Territory is administered by
(A) the Govemor of the termitory.
(B} the President of India directly.

(C) the President of India through an
administrator appointed by him called
the Lieutenant Govemnor,

(I3} the Chief Minister of the territory and
his Council of Ministers.

89. Provisions relating (o Union Public Service
Commission and State Public Service Commissions
dfe conlamed 1n

(A) Part XIV Chapter I, Articles 315-323
(B) Part XIV Chapter I, Articles 115-323
() Pant XIV Chapter 1, Anticles 308-3]1 8
(D) Part XTV Chapter 11, Articles 308-318

9. A member of & State Public Service
Commission can be removed on the ground of
misbehaviour only after the enguiry has been held
by

(A) Joint Parliamentary Commiltee,

(B) Commitee constituted by the
Governor of the concerned State.

(C) High Court of the concerned State,
(D) Supreme Court of Tndia
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91, The Tenth Schedule of the Constitution
deals with

(A) defections

(B} the Election Commission
(C}) the Finance Commission
(D) Other Backward Classes

92. Which Aricle provides for procedure in
Parliament with respect to Estimates?
(A} Arbicle 110
By Article 111
(C) Article 113
(D) Article 114

93, Who nominates the Chairman of Public
Accounts Committee of the Parliament?

(A) Chairman of Rajya Sabha
(B President

{C) Prime Minister

(D) Speaker of Lok Sabha

94. Finance Commission is constituted by the
President every
(A) 2 years
(B) 3 yoars
(C} 4 years
(¥ 5 years

95. By virtue of its special status, the State of
Jammu & Kashmir has a separate

(A} Constitution
(B) defence force
(C) judiciary

(D) All of the above
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9. The Union Public Service Commission
submits its annual report on s work 1o

(A) the Chief Justice of India
(B} the Parliament

(C} the President

(D) the Union Home Mimister

97. The Election Commission is responsible
fior the conduct of election to

{A) Parliament

(B) State Lepislature

(C) Offices of President and Vice President
(D3 All of the above

98. The Indian Independence Act, 1947, came
into force on
(A} 3rd June, 1947
(B} 18th July, 1947
(C) 26eh July, 1947
(D) 14th August, 1947

9. The first session of the Constituent
Assembly was held on

(A) 15th August, 1547
iB} 26th January, 1946
(C) 9th December, 1946
(D) 26th November, 1949

100, The Constitution of India was adopted by
the Constituent Assembly on

(A 15th August, 1947
(B} 25th August, 1949
() 26th Movember, 1949
(D) 26th January, 1950
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101. Which of the following is not & quantitative
credit control wol of RBIT

{A) Bank Rate

{B) Margin requirements
() SLER

(D) Open market operation

102, 15 the regulator of mutual funds in
India,
(A} RBEI
{B) SEBI
(C) Both SEBI and GOI
(D) IRDA

103, Fully auwtomated screen based trading
system MSE is known as

(A) BOLT
{B) NEAT
{C) ALBM
(I3} BLISS

104, __ 15 the venture capital assistance at
the stage where the project started o feich profit
but not reached in its full efficiency,

{A) Start up Capital
{B) Bridge Capital
(C) Mezzanine Capital
() Sesd Capital

105, Secoritigation and Reconstruction of
Financial Assets and Enforcement of Security
Interest (5 A RF A ES I) Act passed in the YEar

{A) 1992
(B) 2005
(Cy 2002
(D 2000

106. Which one of the following is an example
of derivative?

(A) Warrants

(B) Swaptions

(C} Baskets

(B All of the above

107, In Pradhan Mantri Fasal Bima Yojana
(PMFBY), the timeline of how many months is set
for settlement of claims by insurance COmpanies
after the completion of crop cutting experiments/
harvesting period?

(A) One
(B) Two
(C) Three
(D) Four

108. According tothe datareleased by the Central
Statistics Office (CS0), the Indian CCONOmYy 15
likely to grow at what per cent in the financial year
(2018-19)7

(A} 6.7 per cent
(B) 6.9 per cent
(C) 7.2 per cent
(D} 7.4 per cent

109. According tothe World Economic Forum's
(WEF) report titled “Future of Consumption in
Fast-Growth Consumer Market - India', what will
be India’s ranking ss the world's largest consumer
market by 20307

[A) Second
(B) Third
() Fourth
(D Fifth

110, Which of the following is one of the states
which has topped NITI Aayog’s Index of Indian
States’ performance on various UN Sustainable
Development Goals (SDGs)?

(A) Kammataka
(B) Cujarat
(C) Maharashira

([} Kerala




111. The Govi. has decided w provide what
per cent inferest subsidy to merchant exporters,
entailing an expenditure of Rs. 600 cr?

(A} 2 per cent

{B) 3 per cent
{C) & per cent
(D) 5 per cent

112. Which of the following are considered o
be Stressed Assets of Banks?
{A) NPAs
(B) Restructured Loans
() Writicn off Assets
(Dy All of the above

113, Which authority is entrusted with the fask
of overseeing implementation of Sustainable

Development Goals m Incia?
(A) NITI Aayog
(B) PMO
{C) Cabinst
(D} MNone of the above

114. Consider the following statements
regarding Prompt Corrective Action Plan of RBI:
ii} PCA norms permit RBIto putin place
certain restrictions such as halting
branch expansion and stopping

dividend payment etc.
(i) The norms are also capable of even
capping a bank's lending limit to one

ENtity or Sector,

(iii) Under PCA, the RBI is also capable
of superseding the bank's board,

Select the correct answer:
(A) (1) and (ii) only

(B) (i) and {iii) only

(Cy (i) and (i) only
(D) (i), (ii) and (i)
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115 Consider the following statements:
(i} Economic Advisory Council to the
Primse Ministeris & non-constitutional,
permanent and independent body.

(i) Iradvisesthe Prime Ministeron whole
heartof economic 1ssues like inflation,
microfinance, industnal output etc.

Which of the above statement(s) isfare
correct?

(A} (i) only

(B} (i) only

(C) Both (i) and (3i)

(D} Mone of the above

116. The Green Revolution in agricobiure has
made the Indian farmers dependent on

{A) Machines

(B) Fertilizers and Pesticides

(C) Indigencus

(D) Availability of Micro-nutrients

117. NABARD is associated with
(A) indusirial development
(B} urban development
(C) rural development
D) development of railways

118, Bank Eate is an instrument of
(A} credit control
(B} reducing fiscal deficit
(C) reducing deficit financing
(D} incressing tax revenue

119. In which year was the Reserve Bank of
India established?

(A} 1935

(B 1940

(C) 1947

(D 1949

Please Turn Ohver
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120. Which one of the following rates is not
determined by the Reserve Bank of India?
iA) CRR
(B) SLR
(C) Repo Rate
(I}) Prime Lending Rate

121. 'Planned Economy for India’ — The book
was written by -

(A) SirM. Visvesvarayya

(B} L. Nehmu

{C) SN Agarwal

(D) M.N. Roy

122. Planning Commission has been scrapped
on

(A) January 1, Mr15

(B} August 13, 2014

(C) famuary 22, 2015

(D) July 2, 2015

12}, The now defunct Planning Commission
was el up o

(A) March 15, 1950

(B) August 6, 1952

(C) September |, 1951

(1} MNone of the above

124, The aim of the Third Five Year Plan
(1961 - BE) was
(A) rapid industmalisation
{B) growth with stability and progress
towards self-relinnce.
(C) self reliant and self-generating
ECONOMY

(D} removal of poverty and attainment of
self-reliance.

125, It is an wrban renewal and retrofitting
program with a mission to develop 100 cities all
over the country making them citizen friendly and
sustammeble.

What 1517

(A} Start up Incia

(B) Skill India

(C) Swachh Bharat Abhijan
(D) Smart City Mission

126. Aims to achieve an Open-Defecation Free
(ODF) India by October 2, 2019, It is —
(A) Ujala Yojana
(B} P. M. Mudra Loan Bank Yojana
(¢ Swachh Bharmt Abhivan
(D) Deen Dayal Upadhyava Gram Jyot
Yoana

127. GNP=GDP+X - M

where M means

{A) income earned and received by
mationals within the boundaries of
foreign countries.

(B} income received by foreign nationals
from within the country.

(C) volume of commodities and services
produced during the accounting year

(D) imdirect taxes end subsidies,

128. GDP(at market price) - NIT = 7
{A) NNP {at market price)
(B} GNP (at factor cost)
{C) NDP {at market price)
(DY) NNP {at factor cost)
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129. Who is the author of the book ‘Poverty and
| Un-British Rule in India’?

{A) Dadabhai Naoroji
(B) Amartva Sen

(C) Pranab Mukherjee
(D) Amit Mitra

130, Area of Black Revolution:

(A} il seeds

(B) Fish

(C) Cotton

(DY) Petroleum production

131. MSMEs Development Act, 2006 defines
Medium Senvce Sector

(A} above Bs. 2 crore to Bs. 5 crore.
(B) above Rs. 5 crore 1o Rs. 10 crore.
(C) upto Rs. 25 lakh,

(D) above Rs. 10 lakh wo Rs. 2 crore.

132, Find the odd one in the list of Navaratmas

(IT):

(A) Bharat Electronics Limited (BEL)
(B) Rashiriya Ispat Nigam Limited
(RINL)

(C) National Thermal Power Corporation
(NTPC)

(D Hindustan Aeronauwiics Limited
(HAL)

133, Industrial sickness due to the managerial
incompetence and wrong policies pursued

deliberately for want of genuine stake is Known as

(A) Genuine sickness
(B) Incipient sickness
{C) Induced sickness

(¥ None of the above

134, 1st Governor of RBI 15

(A) Osbome Smith
(B) CD Deshmukh
{C) Raghu Ram Rajan
(D) Urgit Patel

135. EXIM Bank was set up

{A) January 1, 1982
{B) April 15, 1980
{C) September, 19493
(D) QOctober, 1975

136, Variaiion in Margin requirements —

(A) Quantitative credit control
{(B) Qualitative credit control
{C) Both (A) and (B)

(131 None of the above

137, Incase RBIwanis iomake it moreexpensive

for the banks to borrow money it

[A} increases the repo rate

(B} reduces the repo rate

(C} increases inthe reverse repo rate
(D) decreases reverse repo raie

138. There are three main treasury bills in India

(A) 91 day, 182 day and 364 day
By 92 day, 183 day and 365 day
(Ch 93 day, 184 day and 366 day
(3 Mone of the sbave

Please Turn Over
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139. An instant real-time inter-bank electronic
funds transfer system, which offers an inter-bank
electronic fund transfer service through mobile
phones known as

(A) RTGS
(B) NEFT
(C) IMPS
(D) UPI

140. Aninvestment plan in which the Company
pays return o investors from the new capital
coming in from new investors instead of the profits
of the business known as

(A) Underwriting
(B} Ponzi scheme

(C) Muteal fund
(D) Para Banking

141. Magnetic Ink Character Recognition
{MICRE) code is a
iA) 7 digit code
(B} & digit code
(C) 9 digit code
(D) 10 digit code

142. Securities and Exchange Board of India
(SEBI) was given siatulory status and powers
throatgh an ordinance promulgated on
(A} January 30, 1992
(B)Y April 12, 1988
(C} April 10, 1992
(D) Aprl 19, 2000

143. The illegal practice of trading on the stock
exchange to one's own advantage through having
secess o confidential information is known as

(A} Bull marker
(B} Bear market

(C) Insider trading
([ Tnitial Public Offering (PO

A-16

144, Withdrawal of currency from circulation to
ambush black market specially Rs. 500 and
Rs. 1000 banknotes were demonetized, although
Bz, 500 note was remonetized on—

{A) January, 1946
(B) January, 1978
(C) November, 2016
(D) MNone of the above

145. A currency with a value that fluctustes as a
result of the country’s political or economic
uncertainty is known as

{A) Hard Currency
(B) Soft Currency
(C) Both (A) and (B)
(D} None of the above

146. A condition of slow economic growth and
relatively high unemployment—economic
stagnation—accompanied by rising prices is
known as

(A) Stagflation

(B) Hyper-inflation

{C) Demand-pull inflation
(D) Cost push inflation

147. Since April 2014 the Reserve Bank of India
has adopted the new measure of inflation which is
known as

(A) Consumer Price Index

(B} New Consumer Price Index
() Wholesale Price Index

(D Mone of the above




148, The Gold Monetization Scheme introduced
by the Government of India in

(A) 2015

(B) 2016

{C) 217

(DY 2018

149, Money policy increases the inflation rate is
known as
i(A) Cheap money policy
(B) Dear money palicy
(C) Hot money
i) Flat money

150. The instruments issued by registered FIIS
o overseas investors, who wish to invest in Indian
stock markets without registering themselves with
SEBI - known as

(A) Cemificates of Deposit (CDs)
(B) Participatory notes (P-notes)
(C) Currency Derivatives

(D} Foreign exchange reserves

151. Find the odd one out:
India’s Top Imports include
(A) Gems
(B) Precious Metals
(Cy Oil
(I} Diamond

152. Find the odd one out;
Direci-Taxes are
(A} Income Tax
(B} Capital gains Tax
(C) Securities Transaction Tax (STT)
(D) Goods and Services Tax (GST)

A-17
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153, The scheme encourages parents to build a
fund for the future education and marriage expenses
for their female child, backed by Government of
India. The scheme is

(A) Sukanya-Samriddhi Yojana
(B) Beti Bachan, Beti Padhao
(C) Atal Pension Yojana

(D) P.M. Jan Suraksha Yojana

154. Pradhan Mantri Ujjwala Yojana was
launched in

(A) 2014
(B} 2015
{C} 2016
(D) 2017

155. The chief promoter of National Securities
Depository Limited (NSDL) is

(A] NABARD

(B) NSCCL

(C) NSE

(D) BSE

156. The corpus of funds and its duration is fixed
in case of fund.

(A) Open ended
(B) Close ended
{C) Balanced
(I} Income

157. On which bank the RB] has slapped Rs. 1
crore penalty for mot monitoring the end use of
funds in respect of one of s borrowers?

{A) Bank of Baroda
(B) PNB
(C) SBI
(D) Allahabad Bank

Flease Turn Ower
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158. The RBI has announced that it will transfer

an nterim surplus of INK to the Central
Government fior the half vearended 31 st December
201E.

(A) Es, 28,000 crore
(B) Rs. 20K} crore
(C) Ra. 30,000 crofe
(D) Rs. 25000 crore

159, The RBI raised the limit of collateral free
agricultural loans to Rs. 1.6 lakh from the current
with a view (o help small and marginal
tarmers.
(AY R 500 00K
(B Ks. 1 lakh
(C) Rs. 1.5 lakh
(D) Es. 80,000

16l Indian Banking Association has issued
advisory requesting banks to waive off the
processing, documentation, inspection and all other
service charges for Kisan Credit Card and crop
loans up to INR

(A] Rs. 2 lakh
(B) REs. 3 lakh
{C) Rs. 4 lakh
(D) Rs 4.50 lakh

I61. India's fiscal deficit has ouched
of the FY 19 Budget target of Rs. 6.24 lakh crore

during the perind of 9 months from April to
December 2018,

[A) 2
(B} 100%
(C) 112%
(D) 115%

A-18

162. What is the name of the mega pension

scheme announced in Interim Budget 2019 under
which Kz, 3,060 per month pension for 10 crore

unorganised sector workers has been proposed for
coptribution of Rs, 100/55 per month?

(A) Pradhan Mantri
Maandhan

(B} PM-Kisan Samman
(C) PM Jan Surakshs Bima Yojana
(I3} Sukanya Samriddhi Yojana

shram Yogi

163. Which State Govi, has announced interest
frée loans of up to three lakh rupees for women
self-help group (WSHGs) in the state?

(A) West Bengal
(B} Rajasthan
(C) Chattisgarh
(D) Odisha

164. The public sector banks in India have the

largest number of branches in which of the
following countries?

[A) Singapore
(B) LUAE

(C) UK

(DY Hong Kong

165, Rythu Bandhu Scheme is implemented in
which State? The state govt. provides an income

support of Rs. 4000 per acre per season to farmers
under the scheme:

[A) Oxdisha
(B) Assam
{C) Telengans
(D Kerela




166. Which State has announced new temporary
cow shelters in the urban and rural areas and
imposition of a cess on excise duty for the same?

{A) Madhya Pradesh
(B} Rajasthan

(C) Uttar Pradesh
{D) Haryana

167. Which State has emerged on top of Asia
Competitiveness Institute { ACI}, Singapore's 2018
Ease of Doing Business Index?

{A) Rapasthan

(B) Gujarat

(C} Delhi

(D) Andhra Pradesh

168, The EBIhas said that PPl users will have no
liability if they report fraud within three days.
Hence the term PP stands for

(A) Postpaid Payment Instruments
{(B) Permitted Payment Instruments
{C) Primary Payment Instruments
(D) Prepaid Payment Instrumenis

169. The govt. collected what amount as G5T in
Dec 20187

(A) Rs, 92,726 Cr.
(B) Rs. 94,726 Cr.
(C) Rs. 95,726 Cr.
(D) Rs. 96,726 Cr.

L Y e S
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170, Which State Govt. recently announced two
welfare initiatives for farmers as partof the ‘Krishi
Krishak Bondhu' Scheme?

(A} Odisha

(B) West Bengal
(C) UP

(D} Bihar

171. Who among the following was recently
declared ‘fugitive economic offender’ by a Mumbai

Court?
(A} Nirav Modi
(B} Lalit Modi
(C}) Subrata Roy
(D) Vijay Mallya

172. Which country asked the BBl to declare
Indian currency notes of denominations higher
than Rs. 100 legal tender in that country?

(A) Maldives
(B) Nepal

{C) Bhutan
(D) Mayanmar

173. The BRI has allowed the Small Indugiries
Development Bank of India (SIDBI) to use an
existing Rs. 1000 Cr. corpus for lending to

(A} Microfinance Institutions
(B) Stdents
{C) Payment Banks

(I¥ Farmers

Please Turn Over
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174, The book ‘Changing India’ has been penned
by who among the followings?
iA) Pranab Mukherjee
(B} Amit Shah
(C) Raghu Ram Rajan
(D) Manmohan Singh

175. The Indian origin {Mysore-born) economist
has joined International Monetary Fund as its
Chietf Economist. Who is she/he?

(A} Gita Gopinath

(B) Amitabh Chaondhury
(C) Jaideep Govind
(D) Vishakha Mulye

176, The GST council tonk @ slew of decission
aimed at reducing the tax and compliance burden
on small and medium enterprises, The Emit for
eligibility for the Composition Scheme would be
ruised to an annoal turnover of from
April, 2019,

(A} Ra. 1 Cr.
(B) Rs. 1.5Cr.
(C) Rs. 2Cr,
(D) Rs.2.5Cr.

177, The Reserve Bank of India on January 1,
2019 allowed lenders to recast loans of stressed
micro, small and medium enterpnses (MSMEs]),
provided the total fund and non-fund-based
cxposure 1o such a borrower does not exceed—

(A) Rs. 10Cr,
(B) Rs. I5Cr
(C) Rs. 20 Cr
(D) Rs, 25 Cr

A0

178, Find the odd one:
India’s major import pariners ine
(A) China
(B) The US
(C) The UAE
(D} UK

179, Maharatna Oil PSU Indian Oil will invest
OV _in ‘West Bengal in the next two
YCArs,

(Al Rs. 1300 crore
(B Rs. 1200 crore
(C1 Rs. 1100 erone

(D7 K= 1000 crone

180, Durch firms are ready to help in setting up
port fucilities (Logistic Hub)at in West
Bengal.

(A) Calcutta Port
(B) Haldia Pont

(C) Tajpur and Kulpi
(D) All of the above

181. The Government of India is amending a
clause of the 1991 Treaty of Trade and Transit 1o
explore water routes. Name the other country.

(A) Bhutan
(B) 51 Lanks
(L) Maldives
(D) Nepal

182, Atthe NITI Aayog meeting of CMs on 1 5th
June 2019 the P.M said that the goal of making
Indiaa economy by 2024 was challenging
but achievable.

(A) % 3 inllion
(B %4 trillion
{C) %5 milion
(D} 56 trillion




183, State Bank of India has reported 4 net profit
of _____for the quarter ended March. 2019.

(A) Rs. 838 crore
(B) Rs. 738 crore
(C) Rs. 638 crore
(D) Rs, 538 crore

184. The man's unique feet: unveilling
e-Choupal with an aim to change India’s rural
economy by empowering farmers. He died on
May 11, 2019. Who is he?

(A) Yopgesh Chander Deveshwar (YCD)
(B) Meera Sanyal

(C) Masazo Nonaka

(D) Atal Behari Vajpayee

185. The Govi. has exempied rupee payments
made to the oil company NIOC towards the
purchase of crude oil from payment of any tax.
MNIOC belongs to

(A) Saudi Arabia
{B) Venezuela
(C) Cambodia
{D) Tran

186. Whichofthe following private sector banks
has announced a “blended finance facility’ to
rescue salt farmers of Rann of Kutch (Gujarat)?

{A) HDFC Bank
(B} ICKC] Bank
(C) YES Bank

D) AXIS Bank

187. A loan offered by a group of lenders who
work together to provide funds for a single bormower
is called

(A} Bridge Loan
(B} Assignment
{(C) Overdrafi

(D) Syndicate Loan

R T el f T e
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188. Andhra Bank has announced todeploy over
1600 BCs w boost financial and non-financial
transactions, Here the term BC stands for

(A} Branch Comespondents
{B) Bank Centres

(C) Business Correspondents
(D) Business Centres

188. The RBI has set up an expert commitiee (o
suggest long term solutions for the economic and
financial sustainability of the MSME sector. The
committee is headed by

(A) UK Sinha

(B} Chitra Ramkrishna

(C) DR Mechta

(D) Arundhati Bhattacharva

190. Financial Inclusion as per RBI means:
{A) Greater Consumer Protection for
newly included customers.

{(B) An casily accessed and speedy
gricvance redressal process.

{C) Expanded efforts on financial literacy.

(D) All of the above

191. Indian Foreign Exchange Reserves
comprises of
(4) Gold & SDR
(B} Reserve Tranche Positon{ B TP in the
IMF
(C) Foreign Currency Asset (FCA)
(D} All of the above

192. RBI uses reverse repo to absorb liguidity.
The statement 15
(A) True
{B) False
(C) Parily True
(D) Does not apply
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193. Which smong the following will be a debit
coiry m India’s balance of payments?

(A) Imports of goods by India
(By Income of Indian investments ghroad
(C) Receipts of transfer payments

(13 Exporns of services by India

194, In the composition of National Income in
India the contribulion of the i5 the highest,
(A) Primary Sector
(B} Secondary Sector
(L) dervice dector

(¥} Social Sector

175, Devaluation of currency leads 1o
(A) Fall in domestic price
(8] Increase in domestic price
(C) Can't be predicted

(D} Mone of the above

196. What is FEMA?
(A} First Exchange Mundgement Act
(B} Forcign Exchange Management Act
(€} Foreign Exchequer Management Act

(¥ Foreign Evaluation Management Act

A-22

197, Which one of the following was launched
with the objective of helping the poor inrural areas
to become self employed through training?

(A) DPAP
(B) IRDP
(C) TRYSEM
(D) DDP

198, Atthe presentation of the Annual Financial
statement before Parliament, a Finance Bill is also
presented in fulfilment of the requirement of Article

of the Constitution, detailing the
imposition, abolition, remission, alteration or
regulation of tixes proposed in the Budget.
LA Article 1O a)
(B} Article 111(1Ha)
(C) Article 112(1)a)
(D} Article 113{1)(a)

199, It aims to fast track taxpayer's grievance
redressal, ensuring early resolution by integrating
all the online and physical grievances received by
the department and keeping track of it until it
reaches its logical conclusion, What 1s 117

(A) Aayakar Seva Kendra
(B} Aayakar Se

{C) e-Niviran

(D} TDS SMS alert scheme

200, *Housing for All by 2022, what is that
scheme?

(A) START UP INDIA

(B) AMRUT

(C) SKILL INDIA

(D DIGITAL INDLA
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Full marks : 200
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Questions are of equal valee,

Serial No: Roll No. |
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INSTRUCTIONS
Candidates should read the following instructions carefully before answenng the questions:

l. This booklet consists of 28 pages including this front page, Verify the Page Nos. and Test Booklet
Series on each page and bring at once o the Invigilator's notice any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
vou have o fill in some particulars in the Answer-Sheet a3 per instructions sent to you in the Admit
Card. Do not fold the Answer-Sheer as this will result in ervor in your marks.

4. All guestions are of multiple-choice answer-type. You will find four probsble answers (A, (B),
{C) and (D) against each guestion. Find out which of the four answers appears to be comrect or
the best. Now darken the oval corresponding to the letter of the selected answer in the
Answer-Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Adm
Card and in the Answer-Sheel.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multple
cirele) or in wrong circle will be considered s wrong answer.

6. There will be negative marking nj‘% mark for each wrong answer,

7. There are blank pages at the end of this Booklet for Rough Work.

8. The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examination
Hall. You are permitted to take away the used Test Booklet after completion of the exanination.
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1. The ratio of bus and train fares from
Burdwan 1o a certain place is 3 ; 4. If the train fane
increases by 20% and bus fare by 105 then what
will be the new ratio of bas and train fares?

(A} 12:13
(B) 11:16
() 12:15
Dy 16:13

2. When the price of rice increases 12%9%, a
man can get 2530 gm less rce for ¥ 18, Find the
present cost of rice per kg.

{A) T8
(B) X7
(C)R9
() § 750

3, OFf four numbers, the second number is
20% more than the first, the third is 109% less than
the second and the foarth number is 30% more
tham the third, [f the fourth number s 405, find all
the numbers.

{A) 300, 408, 250,270
(B} 300, 270, 405, 250
() 275, 290, 310, 380
(DY 250, 300, 270, 405

4. The expenses for rice, fish and ol of a
family areas 12: 17 : 3. The prices of these articles
ere increased by 20%, 30% and 50% respectively.
By what per cent the expenses for these articles of
the family will be increased?

1
=

[ &)

(]

|

|

(B)

3
-

{C)

]
= r;

=

P
o]
o — i e o]

=

(D)

5. In a certain examination, a candidate
answered 25 questions and two-fifth of the rest of
the total number of questions and he found that
thus he has answerad only 60% of the total number
of questions, How many questians did he answer

{A) 45
(B) 40
() 55
(D) 65

6. A man saves 20% of his income. If his
expenses be increased by 35%, by what per cent
his income is 1o be raised so that he can save 105
of his income?

(A)
(B)
(<)
(I

20%
0%
9%
22%

7. Amixtureof milk and watercontains 12%4%
of water, How much water should be added 1o
200 gallons of such mixture so that the new mixture
miy contain 374 % of water?
(A) 70 gallons
(B) 100 gallons
(C} 60 gallons
(D) EO gallons

8. Ome litre of spirit which contains 10% of
water is added to 3 litres of spirit containing 7% of
water and to this mixture half a litre is added. Find
the percentage of water in the final mixture,

LA} 15%
(B) 18%
(C) 20%

(D) 1%




9. A certain kind of brass is composed of
copper, zing, lead and tin; the ratio of copper to
zinc 15 1 : 2 of zinc to lead is 3 : 5 and of lead to tin
i5- 7 : B. Find the quantity of exch meral in 213 gm
brass.

{A) 21 gm. 42 gm, T0 gm, 80 gm
(B} 20 gm, 40 gm, 70 gm, 80 gm
(C) 20 gm, 40 gm, TO gm, 90 gm

(D} 22 gm, 40 gm, 60 gm, 80 gm

10, If 25 men can weave 120 metres of cloth in
a day, how many metres of cloth will be woven by
35 men in a day?
(A) 170 metres
(B} 168 metres
{C) 190 metres
(D) 180 metres

11. 12 men can do a piece of work in 30 days.
How many extra men should be engaged to do the
work in 20 days?

(A) 8 men
{B) 6 men
(C) 10 men
(P 15 men

12. A man and a boy can do a piece of work in
36 days, If the man works alone for the last
10 days, it is completed in 40 days. How long
wonld the boy take 1o do it alone?

(A) 85 days
(B) 100 days
(C) B0 days
(DY) 90 days

A-3 MSC(C)I0/I9

13, A and B together can do a piece of work in
25 days. If B works alone for the last 10 days, it is

completed in 30 days. In how many days A alone
can do it?

(A) 50 days

(B} 60 days

(C) 40 days

(D) 55 days

14. 1200 boys and 600 girls are examined in a
test. 42% of the boys and 30% of the girls passed.
Find the percentage of those who failed.

(A) 625
By 70%
(C) 33%
(D) 80%

15. If 50 men do a piece of work in 12 days
working 8 hours a day. How many hours a day
would 60 men have to work in order 1o do another
piece of work twice as preat in 16 days?

(A} 10 hours a day
(B) 12 hours a day
{C) B hours a day
(D} 6 hours a day

16. A contractor undertook to finish a road
12 km long m 350 days. But after employing
45 men for 200 days he found that only 4 km of the
road had been built. How many additional men
must be engaged to finish the work in the given
time?

(A) 70 men
(B) 80 men
(C) 75 men
(D) 85 men
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17. A laboratory has to pay ¥ 67-30 for 30 days
a5 gas-bill if 1t uses 35 gas bumers for 6 hours a
day. Find the amount to be paid if it uses 30 gas
burners for 18 dave working 7 hours a day.

(A) T40-50
(B} T 4250
(C) ¥44-50
(¥ T 50-50

18. The ¢ost of printing a magazine of
J40 pages with 30 lines on each page and 15 words
in each line is T 7200. Find the cost of printing a
magarine of 450 pages with 35 lines on each page
and 18 words in each line.

(A) T 0000
(B) T 9400
(C) T 8200
(D) T B4

19. Ifa, b, ¢ and ¢ be the 1st, 2nd, 3rd and the
dth proportions respectively, then the valoe of x
will be one of the following:
ab
3
ac

[A)
(B}
{C)

(D

Tl a|f =

20, The number /7
(A} lies barween | and 2.
(B} liez berween 2 and 3,
{C) lies between 3 and 4,
(D)) lies between & and 7,

A4

1. '.?[El '.."4_5 4 Q'E - '-,'ﬁ - 'ﬁ —1."-1_?::"
(A) §
By 0
{C) 7
(m 3

22. 1f the ratio of cost price and selling price is
25 : 26, then what 1s the percentage of profit?
(A) 4%
(B) 6%
{C) 8%
(D 5%

23. There is some loss if an article is sold o
% 120, There is same amount of profit if the article
is sold of ¥ 140, What is the cost price of the
artic|e?
(A T120
(B) T 150
(C} < 130
(D T 160

24. A man sold o stove for T 423 and incurred
a loss of 6%. At what price should it be sold o as
to earn a profit of %7
(A) T480
(B) 490
(C) T 460
(D) T 486

15. A man sold an article at a gain of 5%. Had
he sold it for ¥ 240 more, he would have gained
B%. Find the cost price of the aricle.

(A) T T000
(B) ¥ 9000
(C) ¥ BODO

(D} T 10,000




26, The ratio of the manufacturing cost of two
sharesis 2: 5. If the first shari 18 sold at 15% profit
and the second shari is sold at 18% profit then the
manufacturer makes a total profit of ¥ 396. Find
the cost of manufucture of each shan.

(A) T 500
{B) ¥ 500
() €690
(D) Te60

27. Abook seller allowing 12% discount on the
marked price of a book made a profitof 10%, What
will be his percentage of profit if he sells the book
at the marked price?

(A) 25%
(B} 30%
(C) 20%
(D) 22%

28. A mader sold a bicycle at a profit of 10%.
Had he bought the hicycle at 10% less price and
sold it at a price T 12 more, he would have gained
25%. What is the cost price of the bicycle?

(A) T 500
{B) T480
(C) T 460
(D) €450

29. A businessman blends Assam tea costing
T 70 per kg with Darjeeling tea costing ¥ 110 per
kg intheratio 3: |. What should be the selling price
per kg of the new mixture 1o have a profitof 124:%
for him?

(A) T 100 per kg
(B) TO0 perkg
iC) T 110 per kg
{D) T8O per kg

A-§
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30, Thereisalossof 11% if an article 15 sobd o
+ 1 7R, At what price should it be sold to make a

profit of 11%
(A} T 200
(B) T 220
() 7222
(D) T226

3. A retailer petting a discount of 20% on the
marked price sells an article at the marked price,
Percentage of profit of the retmler 15

{A) 10
(B) 20
(0 25
(2 30

32. A fruit seller purchased banana at ¥ 30 per
dozen and sold each pair at ¥ 7. What is the
percentage profit or loss at this?

(A) 20% profit
(B) 20F% loss
{C) 4% profit
(D) 4% loss

33, Selling aradio at ¥ 36375 there was a loss
of 3% of & radio seller. At what price should he sell
the radio to make a profit of 10%7

(A) 40050
(B} ¥ 410:50
(C) T412:50
(D) T 420:50

M. A businessman purchased 33 kg of pulse at
T 525 and sold each kg at the rate T 18. What is his
per cent of profit or loss at this?

(A) 20 loss
(B) 20% profit
(C) 25% profit
(D) 25% loss
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35. A hawker purchases some mangoes at the
rate of 9 mangoes for T 5 and sells them at T B per
dozen, What will be his profit or loss percentage?

(A) 25 loxs

{B) 25% profit

(]
(D)

23% loss

20% profin

6. A businessman sold an article at a loss of
15%. Had he sold the article gt ¥ 100 more he
would have gained 10%. At what price did he scll
the article”

(A% T 350
(B ¥ 340
(C) T 3nd
(D < 330

3. In what ratio should the Assam tea at
¥ 40 per kg and Darjeeling t2a at ¥ 65 per kg be
mixed and seld at ¥ 60 per kg to make an overall
profit of 25%7

(A
(B)
(i
(D)

[+ 2
sl
s B
2:3

38, A milkman mized water with 60 litres of
pure milk and sold the mixture at the cost price
therebry made a profit of 25%. Find the quantity of
water in the mixiure,

(A) 12 Titres
By 15 litres
() 100 Hires
(D) 14 litres

39, A shoemaker sold two pairs of shoes at the
same price, In the first pair he makes a profit of
20% and in the other pair he makes a loss of 20%
What is his percentage of profit or loss inthe whole
business?

(A) 3% loss
(B} ES% profit
(C) 5% profit

(D 4% loss

A-b

40, Paban incurred 109 loss by selling lemon
at T | 8 perdozen. At what price should he sell each
dozen of lemon to make a profit of 1057

{A) T20
(By ¥22
(Cy 24
(Dy ¥ 30

41. There is 25% profit if an article is sold at
€ 150, At what per cent should the selling price be
increased so that there will be 30% profi?

(A) 25
B 4
(Cy 5
(D) 10

42. A sum of money double itselfl in 8 vears al
some rate of interest, In how many years would it
ireble itself?

(A) 16 vears
(B) 12 years
(C)¥ 13 years
(D) 14 years

43. A sum of amounts will be doubled in

I -
T years, What is the rate per cent?

1]

[A) 15

it Tk |- Pl

(B) 165

i) Iﬁi—

]
i 15
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44, A sum amounts to ¥ 1180in 3 years and o
T 1300 in § years. Find the rate of interest.
(A) 5%
{B) 6%
{C) 4%
() 8%

45, A certain sum amounts to¥ 17,200 at 12%
simple interest peér annum in a period in which
T 22,080 amounts to T 37,536 at 14% simple
interest per annum, Find the sum.

(A) T11250
(B) ¥ 12,750
(C) ¥ 12,250
(D) T 10,750

46. Ten copies of the book can be bought for
certain sum of money payable at the end of 2 years.
12 copies of the same book can be bought for the
same sum in ready cash. Whatis the rate of interest
per annum?

(A) 13%
(B) 15%
(C) 10%
(D) B%

47, Sita deposited some money in a bank at the
rate of simple interest of 5-25% per annum. After
2 years, she has got T £40 as interest. Let us write
by calculating, the money she has deposited into
the bank.

(A) T BO0DO
(B) T 10,000
{C) T12,000
(D) T 9000

48, Let us calculate the number of years for
which the interest of € 600 at the rate of simple
interest of 8% per annum will be T 168

(A) 53
®) 43

1
(C) 3'11

1
() I"z'
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49, Al the same rate of simple interest per
annum, if a principal becomes the amount of
T 7100 in 7 years and of T 6200 in 4 years, let us
determine the principal amount.

(A) T 4000
(B) T 7000
(C) T 6000
(D) ¥ 5000

50, A weaver cooperative society takes a loan
of T 15,000 for buying a power loom. After 5 years,
the society hastorepay ¥ 22,125 for recovering the
lpan. Find the rate of simple interest per annum.

1

(A) 95 % pa
-

(B} EE% pa.
1

{C) 53 % p.a.

|
(D) EE % pa.

81, If the total interest becomes Tx for a
principal having the rate of simple interest of x %
per annum for x years then, principal will be

(A) Tx

iB) T 100x

100
{C’JfT

EE
(D 2

52, If a principal becomes twice of its amount
in 10 years, the rate of simple interest per annum
is

(A) 5%

(B) 10%
(C) 15%
(D) 20%

Please Tourn Over
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53. Calculate the principal whose monthly
interest 15 ¥ 1 having the rate of simple intérest of
5% per annum.

(A) < 300
(B) €120
(C) 7240
(D) T480

54. Write the number of years in which the

amount becomes twice of the principal having the
rate of simple interest 6 —: % per annum,
4"k

(A) 15
(B) 12
(L) 18
(D) 16

55. The ratio of the principal and the amount
{principal along with interest) in | yearis 8 : 9, the
rate of simple interest per annum is

(Ch 10

(¥ 13

Pl | = ot [ o | == podi] ==

56. 10} men can do a piece of work in 18 days,
In how many davs 12 men can do it?
(A) 12 days
{B) 15 days
(C) 10 days
(D) 16 days

57. Present price of a machine is ¥ 2p and if
price of the machine decreases by 2r% in each
year, the price of machine after 2n years will be

wn

| r
(A) Tpll- mu}

{12!
By T2 L
B) T2p|1 3

r,ln
i v2n
() fjp{l ﬁil:l

5B. A person deposited T 100 in a bank and got
the amount ¥ 121 for two vears, the rate of
compound interest par annum is
(A) %
(B) 20r%
(C) 5%

(L 10

&

T | =

59. Find the rate of compound interest per
annum, 0 that the smowunt on T 400 for 2 vears
becomes T 441 f

(A} &
(B) 7
{C) 5
(D) 9

Bl 11 o sum of money doubles itzelf ot the fixed
rate of compound interest per annum in n years,
find in how many years it will become four times,

(A) 3n

(B} n
(C) 2n
(D) 3n




61. Determine the principal amount that at the
rate of 5% compound interest per annum becomes
£ 615 after two years.

(A) T 6000
(B) T 83000
(Cy T 5000
(D) T 9000

62. If the rate of increase in population is r'%

per vear, the population after n years is p; letus find
the population that was n years before,

" g
LJP[HIm

Z n
(B) ::-(1 +ﬁ]

o oo

—2n

D 1L
11;4[4-"!}

63, A invested ¥ 6000 for 5 months and B
¥ 5000 for x months in a business. If the profit of
A and B be equal, find the value of x,

(A} 10 months
(B) E months
(C) 6 months
{D) 7 months

64. Two friends start s business with the capitals
T 16,000 and T 24,000, They make a profit of
73375 in a vear, How much each friend will get as
a part of the profit?

(A) T 1350, T 2025
(B) ¥ 1525, ¥2225
(C) T 1025, T 1850
(D) ¥ 1250, T 2225

MSCICHWT9

65, Three fiends P, O and R started a business
with the capitals T 15,000, ¥ 10,000 and ¥ 25,000,
But at the end of the vear, they suffer a loss of
T 25,000, How much each will have to pay for the
loss?

{(A) T500,F 750 and T 1000
(B) ¥ 750, T 500 and T 1250
(Cy T500, ¥ 750 and ¥ 1150
(D) T 1000, T 500 and T 700

66. At the starting of the year X and ¥ jointly
stort o business with T 24 000 and ¥ 30,000, After

5 months A invests ¥ 12,000 more in the business,
Al the end of the year if the profit in the business
is T 14,030, find the part of the profit of cach of
them.

(A) T 8130, T 5900

(B) 9130, T 4900

(C) T 7130, T 6900

(D) T6130,T 7900

67. Xand ¥ jointly start a business with ¥ 1200
and ¥ 800. A1 the end of the year ¥ geis ¥ 120 as
profit. As a part of profit X will get

{A) T200
(B} T 180
{C) T175
(D) T 150

68. X, ¥ and Z start a business with T T200.
After | year X, Yand Z get T 60, ¥ 90 and T 120 as
profil. £ invests an amaount

(A) T 1800
{B) T 2400
(C) ¥ 2700
(D) T 3200

Please Turn Over
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89, Mr. X mvesizs € 600 for 5 months and ¥
invests ¥ 500 for 9 months in-a business. The part
of the profit will be distributed among them in the
rakic

[A)
(B}
(C)
(¥

= T
i L sl

el

T0. Ina partnership business the total profit of
A and B is T 2000, If the capital of A is T 6000 and
profit is ¥ 1200, then the capital of B is
(A) T 4000
(B) ¥ 5000
(C) T4500
(D) T 3000

7L In a joint business X invests € 6000 for
9 months and ¥ invests T 8000 in some months,
They get T 1800 and T 1600 as profit. In the
business, the invesiment of ¥ was for

(A) 4 months
(B) 3 months
(C) & months
(LY} B months

72, Inajoint business the capitals of A and B are
in the ratio 3 : 4 and the capitalz of B and C are in
the ratic 6 : 5. If A gets o profit of ¥ 450, find the
profit of C.

(A} T400
{B) T 500
{C) T 600
D) T450

A-10

73 In a joint business the capitals of P, 0 and
I

o b .
K are 1n the ratio ] : 3 i . Al the end of the year

they meke o profi n’r'?. 04, Find how much of the
profit C will get,

(A} T2000

(B} T 1500

(C) T 1200

(D) T 1800

74. Mand N can finish a work in 15 and 20 days
respectively, If they do the work together, find the
ratio of their income.

(A 3:4
(B) 2:3
(C) 4:3
(D) 3:2

75, If 36 bighas of land may be imigated in
16 days by a well-pump working 15 hours a day
How many days will it take to irrigate 42 bighas of
land by the pump working 10 hours a day?

[A) 30
(B) 28
(C) 25
(DY 32

76, Inuabusiness Pinvests ¥ 12 000, Aftersorme
days ) joins the business and invests T 16,000 in
it. 9 months after 2 joins, Pand Q get same profit,
Find forhow many months P's money was invested
in the bosiness

(A} 20 mopths
(B) 11 months
(C) 12 months

(D) 10 months




A-11

77. P starts a business with capital of ¥ 5000,
After 3 months (2 joins in the business with capital
T 6000 and after 5 months R invests ¥ 8000 in the
business. At the end of the year of the profit is
T 3400, how much money each will get?

(A) 21200, T 1080 and ¥ 1120
(B} %1200, ¥ 1100 and ¥ 1000
(Cy T 1200, ¥ 1000 and ¥ 800
(D) T 1200, T 900 and T 1100

78. 5 and T start a busipess with ¥ 2400 and
T 1600, After one vear if § suffers a loss of T 45 in
the business, then loss of T is

{A) T25
{B) T30
(Cy T32
(D) 242

T9. P and Q start a joint business. F invests
T 500 for 9 months and  invests some money in
the business for & months, The total profit in the
business is T 69 and O gets a profit of T 46, The
capital of ( in the business is
{A) T1500
{B) T 3000
{C) T4500
(D) T 6000

8, Inajoint business the ratio of the capitals of
three partnersis 5: 7 : 9. If the profit in the business
is T 420, then the third partner will get

(A) T 100
(B) ¥ 140
{C) T 180
(D) T 200

MSCICy1o/19
81. A and B are equal partners. They admit C

and D as partners with ‘é'l.h and %l.h share
respectively. What 15 the profit sharing ratio of all
the partners?

{AY) T9:19:12:10

{B) 21:19:13:9

{(Cy 19:17:13:10

(D) 19:17:15:11

B2. A and B are partners shanng profits in the
mﬁuuf?:i&l.'l’l‘myadmitﬂfar%mshm. which
he acquires in equal proportions from both. Find
the new profit sharing ratio.

(A) 2:1:1
(B) 3:2:1
(C) 4:3:1
() 3l

83, A and B are partners sharing profits in the

ratio of 5 : 4, They admit C for % th share, which

he acquires from A. Find out the new profit sharing
ratio,

(A) 3:3:1
| 2:2:1
(C) 4:4:1
(M 5:5:1

84. Xand Y are partners in a firm sharing profits
in the ratio of 3 : 2. They admit R as a new partner

from 1st April, 2019, X gives %rd of his share

while ¥ gives % th from his share. Calculate the

sacrificing rafio,
{A) 3:2
(B) 2:1
Y 203
(D} 1:2
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85. P and (0 are partners sharing profits in the

| .
ratio of 3 : 2, P surrenders . th of his share and @

surrenders %m of his share in favour of B, a fiew
partner, What is the sacrificing ratio?

{A) 3:2

(B) 2:3

Cy-1:1

Dy 3:1

B6. 5 and T are partners sharing profits in the
ratio of 3 : 2. W admitted as a partner. The new
profil sharing ratic of §, Tand Wis 4 3; 2. Find
out the sacrificing ratio,

(A) 3:5
(B} T:3
L M
(D) 3:7

B7. P and Q were pariners sharing profits in the
ratio of 3 2. They admit & and 5 as new partners

F surrenders % rd of his share in favour of B and

| -
{ surrenders 3 th of his share 1o favour of §

Calculate the new profit sharing ratio of P, O, R
and 4,

(A) 4:3:2:1
(BY 5:4:3:2
(C) 4:4:3+32
D) 4:4:3

B8. A and B are partners sharing profits in the
ratioof 7 : 5, They agree to admit C, their manager

; . I -
tnto partnership, who isto get 3 th share in profits.

; | ! s
He acquires his share 54 1h from A and & th from
8. Calculate the new profit sharing ratio.

(A) 13:11:9

By 13:7:4

(L) 13:11:7

(DY 13:11:5
L]

89. A, B and C are pariners in & firm sharing
profils in theratio of 4 : 3: 2. They admit D as a new

partner. A, B and C each surrendered 'l|, rd of their

shares in favour of D. Calculate the new profit
sharing ratio of A, 8, C and D

(A) 8:6:4:9

(B B:6:5:4
(Cy B:7:6:9
(D) 8:6:7:9

90. A and B are in puntnership sharing profits
and losses in the ratio of 3 : 2, They admit Casa
new partner. Calculate the new profit sharing ratio

if C purchascs 1 ih share from A

L
(A) 5:4:3
(B} 4:3:2
|, s e B
(D) 5:4:1

?1. Aand B are partners in a firm sharing profits
and losses in the ratic of 5 3. They admit ¢ as a

partner for ‘—I;Ih Share in the profits of the firm.
Calculate the new profit shuring ratio of A, & and

Cif € acquires his share ;i;th from A and ,J—“:h
from H, . :
(AY 1T7:15:13
(B) 17:13:10
R e N |
(D) 17:15:10




92, 13- 4( 7+ J5) V112 43=0
(A) 5
(B) 3
(©) 7
(D) O

93. What least number must be added to 8275
to make the sum a perfect square?
(A) 4
(B) 8
(Cy 3
Dy &

94, What least number must substructed from
732 to make the remainder a perfect square”
(A) 3
(B) 4
{€) 5
(D) 6

95, By what number must 192 be multiplied so
that the product may be a perfect square?
iA) S
(B) 4
) 3
(D) 2

A-13 MSC{C) I

96. By whatleast number must 1260 be divided
to make the quotient a perfect square?
(A} 35
By 30
(Cy 40
(D) 45

97. The boys of a school can be arranged in
15, 18 or 24 equal rows and also into asolid square.
Find the least number of boys in the school.

{A) IR0
(B} 4000
(C) 3600
(D) 3000

98. s apeis % of s and R's age is l% of

{'s age. If the age of R is 30 years, find the age of
P.

(A) 10 years
(B) 12 years
(C) 15 vears
() 18 vears

99, The ratio of two numbers is 3 : 4 and their
L.C.M. is 180. Find the numbers.
{A) 45,60
(B) 40, 25
(C) 50,30
(¥ 3d1, 6l

100, The ratio of two numbers is 5 : 8 and their
differences is 69. Find the numbers,

(A) 120,131
(B) 150, 163
(C) 115, 184
(D) 118, 173
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Find the missing term in each of the following
series: (101 & 102)
101. 1,6, 15,7, 45, 66,91

{A) 25

(B) 26

) 27

(D) 28

1
102 | E

[

I
e

-_||
=

1

1A) &

(B) 19
(C) 20

|
1 2=
(D ;

103. Inthe series 2, 6, 18, 54, . what will be the
8th term?

(A) 4370
(B) 4374
() 7443
(D) 7434

1. Find out wrong term.
380, 185,092 48, M0, £, 2
(A) B
(B) 20
(C) 48
Ly 188

105. Find the next term in the senes: BMO.
EOQ, HQS, ?

(A} KSU

By LMN

(C) SOV

(Dy SOW

A-14

106, Vigilant : Alert: : Viable ; !
(A} Active
{B) Hopeless
(C) Feasible
(D) Useful

W07, Fog: Visibility ; ; AIDS ; 7
(A) Health
(B) Resistance
(L) Viros
(1) Death

108. Infrared is to Heat as Ultraviolet is o

(A) Cancer
(B} Blisters
{C) Mutation
(D) Ozone

Select the lettered pair that has the same
relationship as the original pair of the words,

(109-115)
109. Sip: Gulp
(A} Touch : Push
(B) Cup : Class
(C) Tent: Hut
(D) Souwp : Water

110. Deplete : Enervate

(A} Tighten: Loosen
(B) Exhaust : Enfeehle
(C) Invigorate ; Tired
(D) Swengthen : Weak




111. Lugubrious : Sorrowful
{(A) Lustrous : Luscious
{B) Frenzied : Excited
{C) Credible : Incredible
(D) Eaphoric : Sad

112, Incandescent : Glowing
(A} Flash : Flame
{B) Tedious : Bore
{C}) Boor . Oafish
(D} Indefatigable ; Untiring

113. Annihilation : Fire : : Cataclysm : ?
(A) Emergency
(B} Trbulation
(C) Anxiety
(D} Flood

114, Paw :Cat:: Hoof ;7
(A) Horse
(B) Lion
(C) Lamb
(D) Elepham

115. MAN:PDQ : : WAN : 7
(A) NAW
(B) ZDQ
C) YDOQ
(D) YQD

A-15 MSC(C) G119

116. Choose the word which is the least like the
other words in the group.

(A} Copper
(B) Zinc

() Brass

(D Aluminium

Choose out the odd one. (117 & 118)
117. (A) Phi

(B) Gamma

(C) Peso

(D) Beta

118, (A} Autocracy
(B) Bureancracy
(C) Diplomacy
(D) Theocracy

119, Find the odd one.
{A) CALORIC
(B) DRUID
(C)y ELOPE
{D) FRETFUL

120. Choose the word different from the rest.
(A) Tibia
{B) Cortex
(C) Cranium
(D) Cerebellum
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121. If GOLD is coded as HOME, COME is
coded as DONE, and CORD is coded as DOSE,
how would you code SONST

(A} TPOT
(B) TOOT
(Cy TOOS
(D) TONT

122. If in & certmin lanpuage, CHARCOAL s
coded as 45164913 and MORALE is coded as
296137, how is the word ALLOCHRE coded in
that language?

(A) 13396B75
(B 166030RES
(C) 13394567
(D) 19943755

123. If "air’ is called “green’, ‘green’ is called
‘blue’, ‘blue’ iscalled “sky’, “sky’ s called “yellow’,
‘vellow® 15 called “water' and “water" is called
‘pink’, then what 15 the colour of clear sky?!

(A) Blug
By Sky
(C) Yellow
(D) Pink

124, Inaceruncode language, “si po e’ means
‘bock iz thick ™, "o nare” means "bag 15 heavy ™, "ka
51 means "interesting book” and "de &’ means "that
bag". What should stand for *that is interesting” in
that code language?

(A) kadere
(B) tpoka
(Cy karena

([ de sire

125. (i) ‘kemp lamp tems' means ‘speak the
truth’;
(ii} ‘bis tim nak' means ‘always seek
knowledge';
(i) "tim tems sik" means “knowledge is
truth’;
(iv) ‘lik bhis zap' means ‘never seek
violence':
Whach letier code stands for "always'?
{A) nak
{B) tim
{C) his

(D) zap

126. Introducing Reena, Monika said, “5he is
the only daughter of my father’s only daughter”,
How is Moniks related of Reesna?

(A} Auni
(B} Miece
(C}) Cousin

(1 Mone of the above

127. Given that
(i} A i= the mother of B
(iti) C is the son of A
(i1} s the brother of E
(iv) Eis the daughter of B
The grandmather of D is
(Al A
iBy B
Wy C
() B

128. Aisthe brother of B, B is the daughter of C
and Des the father of &, then how 15 C relsted to D7

(A) Husband

(B) Wife
(C) Granddaughter
(D) Grandfather
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129. Ravi and Kunal are good in Hockey and
Volleyball. Sachin and Ravi are good in Hockey
and Baseball, Gaurav and Kunal are good in Cricket
and Vollevball,

Sachin, Gaurav and Michael are pood in
tootball and Baseball. Who is good in Hockey,
Cricket and Volleyball?

(A) Sachin

(B} Kunal

{C) Ravi

(D} Gauray

130, Six students A, B, C, D, E and F are sitting
in the field. A and B arc from Dethi while the rest
are from Bangalore, [ and F are wll while others
are short. A, C and D are girls while others are
boys. Who is the tall girl from Bangalore?

(A) C
(B) D
{C) E
(I F

131. A.P.R.X.SandZ are sitting inarow. Sand
Z are in the centre, and A and P are at the ends. R
is sitting on the left of A. Then who 15 sitting on the
right of P

(A) A
(B) §
iC) X

D) Z

132, Alkaisolder than Mala, Gopal is older than
Mala but younger than Alka. Kapil is younger than
Eam and Mala. Mala is older than Ram.

Whose ape 15 between Gopal and Kam?
(A} Mala

(B} Kapil

(] Alka

(D} Mone of the above

133. 1 am facing south. I wrn right and walk
20 m. Then | turn right again and walk 10 m. Then
[ tam left and walk 10 m and then wming right
walk 20 m. Then I tern right again and walk 60 m.
In which direction am [ from the starting point?

(A) North
(B} North-West
{C) East
(D) MNorth-East

134, Kailash walks 3 km to East and turns South
and walks 4 km. Again urns West and walks 6 km.
How far is he from the starting point?

{A) 7km
(B) 5 km
(Cy 6km
(D) 3 km

Directions (Qoestion Nos, 135-138):

Choose the letter of the region which correctly
represents the statement.

A B
Chinese A‘ Painiers
C Mfusacians
135. Chinese who are Painters but noi
Musicians—
(A} b
By ¢

iCy d
(D) g

Please Turn Owver
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136, Pointers who are neither Chinese nor
Musicians

(A} b

(B c

(C) 1

(13 &

137. Chinese whe are Musicians but not
Painters—

(A d
(B) ¢
(C) b
(D) a

138. Chinese who are Painters as well as
Musicians—

(A o
(B b
() ¢
(D) d

139, Which of the following words will come
second in the English dictionary?

{A) Magical

(B Magmiy

(C) Mapnetic

(D) Maternal

In each of these questions, jumbled letiers of a
meamingful word are given. You are to rearrange
these letters and select from the given alternatives
the world which is almost opposite In meaning 1o
the rearranged word (Question Nos. 140-142):

140. YPCUIAT
(A) Surplus
{B) Scarcity
{(C) Presence
(D) Richness

141. SAYMTNE
(A) Hosility
(B) Acquittal
(Cy Immunity
(D) Pumishment

142. MEFBLOE
(A) Reply
(B} Solution
(CY Answer

(D} Resolution

143. Nitin ranks eighteenth in a class ol
49 students. What 15 his rank from the last?

{A) 18
(B 19
() 31
(D 32

144. I P denotes +, Q denotes -, K denotes x and
8 denotes +, which of the following statements i3
correct?

(A) W6R4S5B8QTP4=10
{B] IGRIZP495 7 () 9= 20
(C) 3258R9=1600Q12R 12
(D) SREPESEQR=57

145. Armrange the fullowing in a logical onder:

1. Shoulder 2.
4, Plam 5. Finger

(A) 2.4,5.3,1
(B) 31 &8, 2.5
(C) 34,3, 1.1
(D) 5,4, 3.1

Wrist 3 Elbow




146, A waiter's income consists of his salary and

tips. During one week his tips were % of his salary.
What fraction of his income came from tips?

(A)
(B)
{C)

(D)

Sth e delua W

8 7 7
147, 2!5 15 4@15
6 8 10

(A) 42
(B) 46
(C) 4%
(D) 50

148. If on a tough day you are the only person
available to handle the customers, you should

(A) ask for additional help from the boss.
(B} take leave and go back home,
(C) justdo your part of the work.

(D) try and wark to the maximum of vour
ability to satisfy customers.

(zive answers (Question Nos. 149-150):
Ay Only conclusion T follows
(B} Only conclusion | and [T follows
{C) Either conclusion I or II follows
(D} Both conclusions I and 1T follows

149. Statements : All men are married. Some
men are educated,

Conclusions: 1 Somemarried are educated,
I Someeducated are married.

A-19
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150. Statements : Some papers are pens. Angle
IS & paper.
Conclusion : 1 Angle is not a pen.

IT Angle i% o pen.

Which is Implicit (Question Nos, 151-152):
151. Statement : ‘Smoking is injurious to
health." — A waming printed
on the cigarette packets,

Assumptions: (I) People read printed

matter on & cigaretie
packet,

(1T} Peopletake careful note
of a waming,
{IlI} MNon-Smoking promotes
health.
{1V None of the above
(A) None is Implicit.
(B) Only I and I are Implicit.
(C) All are Implicit.
(D) Only IT and 111 are Implicit.

152. Statement | The Reserve Bank of India

has directed the banks to
refuse fresh loans to major
defaulters.
Assumptions: (I} Thebanks may still give
loans to the defaulters.
(I} The defaulters may
repay the earlier loans
to get fresh loans.

(I} The banks may récover
the bad loans through
such harsh messures,

(A) None is Implicit,

(B) Only I and IT are Implicic
(C) All are Implicit,

(D} Only I and IIT are Implicit,

Please Turn Owver
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153, Coant the number of triangles:

N
h'x_i‘___"'
(A) 16
(B) 12
{C) 8
(0 4

154. Whichofthe following collections of betters
will look the same in the mumros?

(A) OSMIHOM
{B) YHRTEVH
{C) HIMOSTA
(D) ADVIVOA

155, In o dice 3 b, ¢ and d are written on the
adjacent faces, in & clockwise order and e and £ at
the top and bottom, When ¢ is at the top, what will
ke at the hottom?

(&) a
(Bl b
(] c

(D) Data insufficient

Direction {Question Nos, 156-157): Study the
following information and answer the question:

There are five rees A, B, C, Dand E. E 1s to
the north-ecast of B, A 15 15 mto the east of B, which
ix 40 m to the west of 1. C is to the north-west of A
and on the line of BE. A 15 30 m to the south of E.

156, What is the distance between tree A and
tree 1))

(&) 16m

(B} Z5m

(C) 35 m

(D 30m

157. In which direction is E with respect 10 D?
(A) MNorth
(B) East
{1 Norh-West
() South-West

158, The area of a tnangle is equal to the area of
@ squire whose side measures T3 meters. Fnd the
side of the tiangle whose corresponding altitude i=
[25 meters

(A) TOm
(BY 73 m
(Cy 90 m
(DY &5 m

159, In a cemtain code "BASKET' 15 written as
‘5% 3% # 1" and ‘“TRIED" is written as 14 * &2
How is "SEIRT" written in that code?

(A) 3% *4]
(B) 3* % 4]
(C) 3% &4l
(D) 3/4% ]
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160. The position of the first and the fifth digits
of the number 81943275 are interchanged Similarly
the position of the second and the sixth digits are
imterchanged and so on till the forth and the eight
digits. Which of the following will be the third digit
from the right end after the rearrangement?

(A) 1
(B) 9

(C) 2
(D) 4

Bund Ay
ﬂx15+9_'

13
(A) lﬁ
11
(B) '2_7
23

(C) Eﬁ

21
) 33-2

161,

- 3 1
1 3=t d=d|==1
62. 3+ 4+ 3

11
(A) 855
12
(B} 10:3
11
€ 153

11
(D) 'E'ﬁ

163. 4, 10, 7, 82, 244, 730
(A) 26

(B) 28
(€) 40

(D) 48
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164, Amongst the following words, which will
appear third in the dictionary?
{A) Immutable
iB) Immigrole
iC) Imperstive
(D) Impassioned

Direction (Question Nos. 165-169): Study the
following information and answer the questions
given below:

There are seven friends T, U, V, W, X, Y
and & who work in seven different shops — Oswal,
Mux, Vmart, Reliance Fresh, Walmart, Easyday
and Big Bazar, but not necessarily in the same
order. Each of them hikes a different colour —
Black, Blue, Red. White, Orange, Green and Yellow
—but not necessarily in the same order.

® Voworks in Oswal and he likes neither Red
not Organge.
X does not wark m Vmarn,
£oworksin Big Bazar and likes Green colour.
W likes White and works in Max.
The one who works in Easyday likes Blue
colour,
X and ¥ do not work in Beliance Fresh and
neither of them likes Crange colours.
® Uworksin Walmart and likes Yellowcolour.

168, X works in which of the following shops?
{A) Easyday
(B} Vmarnt
(C) Max
(D) Big Bazar

166. V likes which of the following colours?
(A} Black
(B} Red
(L) Blue
(D) Can't be determined

Please Turn Over
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167. Which of the following combinations is
true !

(A) Z-Big Bazar-Green

(B) V-Oswal-Black

iC) Y-Vmart-Red

(D} All are true

168. Who among the following hikes Urange
colour?

(A) ¥

(B) X

(C) ¥

D) T

169, Which of the following statements is true?
{A) T works in Reliance Fresh and likes
Orrange colour,
(B) X works in Wmarnt and likes Blue
colour.

(C) WV like: White colour & works in
Ciswal

M MNone is trie.

170, A bag contains 4 White shirs, 4 Black shirts
and & Pink shirts. Two shirts are drawn randomly.
What is the probability that at most one shirt is

white?

=
[

(A)

(B}

2l ==

H
=
o B

171. Which of the following will not be number
of the senes?
1,827 04 125, ...

(A) 256
(B} 512
() 729
(D¥y 10K

172. Pulp : Paper :: Hemp : 7
(A) Basket
(B} Yam
{C) Rope
(D) Cotton

173. Tectoniss : Building :: Taxidermy : 7
(A) Classification
{B) Conserving
{C) Stuffing
(D) Collecting

174. Ecology is related (o Environment in the
same way as Histology is related to

(A) Fossils

(B) History

(C) Tissues

(D} Hormones

175. Select the letiered pair that has the same
relationship as the original pair of words.
Intelligentsia - Elitist

(A) Commonality ; Common class
(B) Gentry ;: Public

(C) Rabble : Plebeian

(DY Outer Shell : Sea Shell
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176, Choose out the odd one.
(A) Pupil
(B) Iris
(C) Cornesa
(D) Medulla

177, In a certain code, BREAKTHROUGH 15
writlen as EAOUHRBRGHEKT. How is
DISTRIBUTION written in that code?

(A) TISTRUONDIR]
(B) STTIBUONRIDI
(C} STTIBUDIONRI
(D) RISTTIBUDION

178. If ‘ski mps iri” stands for ‘nice Sunday
morning’, ‘tel st rps’ stands for ‘every Tuesday
morning " andski pir glm”® stands for *nice market
place’; which word stands for "Sunday’?

(A) ski
(B) rps
{€C) m

(D) glm

179, A woman going with a boy s asked by
another woman about the relationship between
theim, The woman replied, “My matemal uncle and

the uncle of his maternal uncle is the zame.” How
is the kady related with that boy?

(A) Grandmother and Grandson
(B} Mother and Son

(C) Auont and Nephew

(D Mone of the above
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Direction {Question Nos. 180-184): Read the
following information carefully and answer the
questions given below it:

There are five men A, B, C, D and E and six
women P, Q. R, 5, T and U. A, B and R are
advocates; C. D, P, Q and S are doctors and the rest
ife teachers. Some teams are to be selected from
amongst these eleven persons subject (o the
following conditions:

A, P and U have to be together.
B can not go with D or R.

E and ©Q have to be together,
Cand T have to be together,

D and P can not go together.

C can not go with (),

180, If the team is o consist of wo male
advocates, two ldy doctors and one teacher, the
members of the team are

(A) A,B.P.Q.U
(B} A,B,P,U,§
() A,P,R.5U
(D) BE QRS

181. Ifthe team is to consist of one advocate, two
doctors, three eachers and C may not go with T,
ithe members of the team are

(A) AE,P,Q.5U
B) AE,P,Q.T,U
(C) B.E Q.8 T.U
D) EQR,8T,U

182, Ifthe team is o consistof one mile mivocate,
one mule doctor, one lady doctor and two teachers,

the members of the team are
(A A, C. P, T.U
B) A.D.E.P.T
(C) ADEPU
iy B,CE. QU
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183, If the team is o consist of ong advocate,
three doctors and one male teacher, the members
of the teany are:

fay ALD P S L
(B} C.D.R, 5. T
(Cy D, B QRS
Dy DE QR T

184, If the team 15 (o oonsist of two adyvocales,
twor disetors, two teachers amd not more than three
ladies, the members of the team are

(A) ABC.PT.U
B ACPRTU
(O AEPQRT
(D B,C.E.Q.R. T

185. Choose group of letters different from others
(A) DXCLQZ
(B) PFZUBM
(C) XGENTY
(D) GIMOQVX

186 Find the mumber of tnangles

.____.--"“h.
= ’JT\\ /\\ EW}
o J(//‘\/ff
...\.'-,\_\-\.d-.__-"-
[(A) 16
{B)
{C)
(D

T

28
13

¥ o

4 9 _ 39
"9 M T 86

(&)
iB)

(i

(D

188. Find the term which does not fit into the
series given below:

G4T, J10R, M20P, P43N, S90L

(A) GAT

(B} JOR

(C) MOP

(D} P43N

189, Botany : Plants :: Entomology ; 7
(A) Snakes
(B) Insects
(C) Birds

(D Germs

1) Select the lettered pair that has the same
relationship as the original pair of words:

Ogle ; Observe

(A} Flaunt ; Display
(B} Discern : Perceive
(C) Clamour : Despite
(D} Haggle : Dutbid




191, Choose out the odd one.
{A) Radium
(B) Thorum
(C} Sodium
(D) Polonium

192, In a certain language, MIRACLE is coded
as NKUEHRL, then how is GAMBLE coded in
that language?

(A) JDOCMF
(B} CLEMNK

(C} HCPFQK
(D) AELGMN

193, In & certain code language, STRING is
written a5 % =+=-%+ and PRAISE as
7* @ - % ». How will the word GRAPES be
written in that code language?

(A) += @ x?%

B) +@«Tx%

(C) +=E@Tx%

(D) None of the above

194. Pointing out to & Lady, Rajan said, “5he is
the daughter of the woman who is the mother of the
hushand of my mother,” Who is the lady o Eajan?

(A) Aunt

(B) Granddaughter
iC) Daughter

(D) Sister-in-law
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Read the information to answer the questions
(Question Nos, 195-1%6):

Nine cricket fans are watching a maichina
stadium, Scated in one row, they are J, K. L. M, N,
0, P, Q and R. L is at the right of M and at third
place at the right of N. K is at one end of the row.
()is seated adjacent to both O and P, O is at the third
place at the left of K. J is right next to left of O.

195. 'Whao is sitting at the centre of the row?
(A) L
(B) J
() O
Dy Q

196, Who is at the other end of the row?
(A) 1
(B} N
(C) P
(D} R

197, A rab rans 20° towards East and fums o
right, runs 10" and tums to right, runs %' and again
wrns o left, runs 5° and then wms o lefi, muns
12" and finally turns to left and runs 6°,. Now which
direction is the rat facing?

[A) East
(B) West
{C) North
(D) South

198, If + mweans %, ¥ means —, + means + and
— means +, then which of the following gives the
result of

175 -25+54+20x 34107
(A} 77

(B} 160

(C) 240

(D) 2370
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199. In a group of cows and hens, the number of

legs are 14 more than twice the number of heads.
The number of cows s

(A) 3

(8 7

(Cy 10

(D) 12

{A)
tHS

|_I_-'_|

(D) 1

A4

B4
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